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wrdfl elemaarer 1/ Model question paper I

Gusplensy @ewiLmd eyewi®@ / Higher Secondary Second Year

Beugluiluwssd - Chemistry i

(eymidleold Loppd S / English & Tamil Version) 'g

. , amelt + 3.00 wewdl QTHs HICLETEST ; 7.
greod oieTo) : 15 BUL iGN WWW.WaytoSuccess.org K Mark }
Time Allowed : 15 minutes + 3.00 hrs aximum Marks : 79

SfaEnrset ¢ 1. Sl el daEnd gllwresll udleurs o _sTensT  esLHemen  FAUTTH SIS
Q& meiTeTaLD. oFaludalsd  @GopwlnUlst Smms  saiisraiuuTenflLib
o Lagwisd Osfallasa.
2. Beuld (oisvevgl) &miy emoulenen WL GO aREHINSBGL igsBaMBasBEw
LUWETLUBSS GeueiBID. LILMis6 euenyousBeE Cusidlsd LSTLIGSHSHNLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams,
GUlY : Comawnar B HHe0 UL eumfbgHl FIOGLTHEEMET 61(DSHYLD.
Note : Draw diagrams and write equations wherever necessary
ugsh — I/Part-—1 15x1=15
GOl : 1. Seneidhsl elansseEndEn el Wefléssalb
2. O@m@dsin L Lr;rrsr'ﬂ@ allemL Heile0 )51 6 BL{EMLLLI allenLemiLid
CombosBsam GBRUILBLe sl ulmerid GFTHHl 61(1DHIH.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

. flelaBal hoeallen DuglienL augeIIOlL] DIeVE

a1, [Si0s]* . [Si04]* @. [Sio] . [Si04]*
The basic structural unit of silicates is
a) [SiOs]* - b) [SiO4]* ¢) [SiO] d) [Si04]*

2. oompsLSHBeTs  ULSTUGD  Hedmet,  Geyiomeuib Gumelis  SHeflomiseir
(wenpullst gruienoluBSHBULGE sime.

3. CeuBMiLHalsd CeulLtILIBHgI860 Db CUTEN - SYF&H6E0 (LPENM
8. wewi_60 a&idhH i . OISR 5560
Elements like silicon and Germanium to be used as a semiconductor is purified by
a) heating under vaccum b) Van — Arkel method
c) Zone refining d) Electrolysis

3. aHBsr oufevmisesin ABARCBY Hmeir sufens
9. HOX > HXO0, > HXO; > HXO, <. HXO4 > HXO; > HXO, > HOX
8. HXO; > HXO, > HXO, > HOX r. HOX > HXO, > HXO; > HXO,
The oxidising power of oxo acids follows the order
a) HOX > HXO, > HXO; > HXO, b) HXO4 > HXO0; > HXO, > HOX
¢) HXO3 > HXO, > HX0, > HOX d) HOX > HXOQ, > HXO; > HXOQ,
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. oL&EImGeL (Cra07)” owellulsh o s

ol 4 Cr—O Udevemiiyssit &f swm

& 6 Cr—0 Uewemiiiyssit &M #wow

@. owamss Cr—-0 Usmewiysend &0 g
. oimardhgs Cr— O Genewiisepd & FLOLOHBM G
In the dichromate anion (Cr,04)*
a) 4 Cr — O bonds are equivalent

b) 6 Cr— O bonds are equivalent
¢) All Cr— O bonds are equivalent ; )

. d) All Cr - O bonds are non-equivalent
LigsLisr Uenemillgmes suflenaLig (Bporensy  Geugeuflena) Ueiteumd reflsemsit oiHs Uig&
yeollenuiilenss  gBUBSHEieug 61317
s F° <. CO @. H0 m Cl°
According spectrochemical series which of the following ligand produces strongest field and
cause maximum splitting?
a)F- b) CO ¢) H,0 d)CI-
B WHL auvs ellwaise, slomamBaus el 6909 min' eefsd 75% elensr Hanpay
Cup Cxemeuwiren &mevld (HILOL Figei)

F 2 log =

3 3

B

For a first order reaction, the rate constant is 6.909 min™ the time taken for 75% conversion in

minutes is

ofafer o ol(i)  ofi)e(s)

(pBLILEHIOLI SHEIFFSHI] DvGHEaList (fcc) Curdleays Hmen

a1 74% . 68% @. 52.38% w. 48%
The packing efficiency of a face centered cubic structure is -
a) 74% b) 68% c) 52.38% d) 48%

. Qoo GaAIYE SHevemen OleiIGamBBID (charging) Qsuwyd Gurgl

o1 Grideiapemenuisy PbSOs il Pb o5 @BEHBLMLEDBSI

. Gprdsnupameanuisy PbSO4 el PbO, & ydbenlmGabpoamL&ng!
@. agdidsipsmeruied PbSOs Usudl Pb o5 @BH&SLMLEDBSI

7. eidifaipemenuisd PbSOs el Pb ois SsEeIgCabpoamL Snsl
While charging the lead storage battery

a) PbSO, on anode is reduced to Pb b) PbSO4 on anode is oxidiz‘ed to PbO2
~ ¢) PbSO, on cathode is reduced to Pb ~ d) PbSO4 on cathode is oxidized to Pb

\eireupeusnauBmiei 61%H FRuire QuITBIw|siTena?

9. LT6LLOLD - Quuilewic

o). Bio SIHE SMyFsL - LT

. meny - ple0JEsY

. Qi6ueuiTGlgwTLl
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10.

11

12.

13,

www.Padasalai.Net www.TrbTnpsc.Com
Which one of the following correctly matched?

a) Emulsion - Paint

b) Liquid Aerosol - Milk

¢) Foam - Pumice stone

d) Gel - Butter

QeuL. SIBWTenLIgall BemyaImedl Gghda WL 3.2 X 107 arellsy DI BT WY
s 1.8x 10°M & 1.6x 10°M 8. 2x10°M w4 x 107°M
The solubility product of lead iodide is 3.2x 10, its solubility will be

a) 1.8 x 10°M b) 1.6 x 10°M c)2x 10°M d) 4 x 107°M

Sniueneey QEiniseiel ambasui Gsidme allsnauls CUTHurs almensdmsi suflens

o1. HCHO > RCHO > C¢HsCHO > R,CO > (C¢Hs)a

&t HCHO > CH3CHO > C¢HsCHO > CH;COCH; > C,HsCOCH;

@. CsHsCOCHs> CH;COCH; > C4¢HsCHO > CH;CHO > HCHO

# HCHO > CH3;COCHj; > CsH;COCgHs > CH;CHO > C¢HsCHO

The general order of reactivity of carbonyl compounds towards nucleophilic addition reaction

is

a) HCHO > RCHO > C¢H;sCHO > R,CO > (C¢Hs)2

b) HCHO > CH;CHO > C¢H;CHO > CH;COCH; > CsHsCOCH;

c) C¢HsCOC¢H;5 > CH3COCH; > C4HsCHO > CH3;CHO > HCHO

d) HCHO > CH3COCH; > C,HsCOC,H; > CH;CHO > CHsCHO

Fap@l : cpellevani sOBABTELBN  HIHMENID allenenuisd Hilemsmril DLEVBATTCHEN6TENIL

greglel FBUBSIME.

sMyemid : @femaml SsHBanTma Al APl DUEUBABTEHET  UeGDL GBS

SiLlsvLD.

o G B smyed  @yeiiG  &f Gogud  stgemoTES  dBpbdTer  FMLITer
66T BTG LD, | P |

o). GaBm PO Srremi  @yeniGl  sfl  Gogub  eryeuILTIG  SabpbHHTeT giluwimeat
eleT & &1L01606M60.

B. gy & agsmrrsb STTENID  HouDi

F. SaDm LODEID STFed EB) a'a-jIGLb $HeUm

Assertion : Tertiary alcohols umtérgo dehydration more readily than primary alcohol.

Reason : Tertiary alcohols are less acidic than primary alcohol.

a) Both assertion and reason are true and reason is the correct explanation of assertion

b) Both assertion and reason are true bul reason is not the correct explanation of assertion

c) Assertion is true but reason is false

d) Both assertion and reason are false

Ueneumd ellsnansuflenguist sflsnsnGuirgen X e daiil_iéb.

C,H,0C/——C,H,ON —k0U_, ¢ CH,CH,NH,
(X)
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14.

15,

16,

17.

' 9
~~ Why fluorine is mote reactive than other halogens:
- 18. '

~d) 0. - helicil backbone

* What is the role of depréssing agent in

www.Padasalai.Net www.TrbTnpsc.Com

o, (CHz),CHCOC! | - & CH3CH,CH(OH)CH,C!
@. CH;CH,CH,COCI . CICH,CH,CH,CHO
[dentify X in the following sequence of reaction.

c,H,0C1 — C H,ON —22X1_, CH,CH,CH,NH,

(X) -
a) (CH3);CHCOC/ b) CH;CH,CH(OH)CH,C/
¢) CH3CH,CH,COC/ d) CICH,CH,CH,CHO

m - LBl Byreusdsr o et (NHa):S, sllwen Lfipg QstBéen oo el e EUTGST
ail? ' .

NH
NO, 2

NO, NH, .
' ' HS NH,
NO HNQNO | [ ;I - ot [ 1
o 2 - 2 @.

The majot product of the reaction between m — dinitrobenzene with (NH,)2Sy s
NH,

tNDz Nfoz | i v vl NH;
NO, d HS NH;
NO, @ b) HN NO, ) ﬁ j\

2 ) |
L|y HH 8560t @gsuﬁrd‘fﬂsmeu SIHLLTESI 1 GHSSDSHI?

1. LmedGUUsHL B (Lp&IGaabL e Blensowires 6ug Sismiol

o, B Capsed B uiBss ;

@. o — SIGem Sibfeumiseien auflens

B0 — ST (WHIeSEIDL _

The seconddry structure of a protein rgfcrs

a) fixed configuration of the polypeptlde backbone

b) hydrophobic interaction .
c) sequence of o - aminoacids

ugd — 11/ Part—11 6x2=12
gCHaib oIl NetibsEnde elamLwemss. el stewt 24 &@& SLLMWIOTS
silenLwlefdsaa|Ld.

Answer any six questions.
BepAgY Wempulsd GOWEGID S

Question No. 24 is compulsory.
geflbei LWETLGSSIIS SieudlLd WTS!?
froath floatation process?

517
95 Gameoggeiieenen STLIgEID e flen 1P mm@ﬁﬂ]@ﬁm%w@. g’

s Hns GLbHBSD SIIUD

Define solubility product of 2 compound.
BsHsET G HTEES:

(fr DS & 6 60T DT BOIEBDSTES | gapooThd  CefbsULBSDEH. RbESDMD
6UpLIlgeNsY  dn

: . itate into colloidal solution. Illustrate with an
isi ' to convert precipitate 10 .
Peptising agent 18 added

example.
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20.

21,

22.

23,

24,

25,

26.

.8

28.
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Q® Vsl SHs sevailgueiien  @gemi®  LlemmLpen OIS EnEE SLUULL  Smyb
15 Q.18 @eGeam®m Weupamauled GUeGU UFuyb 4.55.0F.15 eenid. 05N Weiiugsia

soFNEE Hasasms LWeLGSE emiLBluiulL  WeisemL Sy 15Q  erefled,

SEFFEIET B HL SHSHIHSBEN LOGILIENL] ST,

A conductivity cell has two platinum electrodes separated by a distance 1.5 cm and the cross
sectional area of each electrode is 4.5sq cm. Using this cell, the resistance of 0.5N electrolytic
solution was measured 15Q. Find the specific conductance of the solution.

t — fwlemLed SeOEHaDTme DbeVD  SHeVbhS L @BymBolenL  LWETLIBEHS  STTLENET60
Gaiowre SsmMIRCMBEL SmLWF CFuiuw @uwenor?

Is it possible to oxidise t — butyl alcohol using acidified dichromate to form a carbonyl
compound?

QUETFTEIIMABY I BHS! OTVENSL. LIFME MWD sleusurpl Swimfium?

How will you prepare Malachite green dye from benzaldehyde?

Netsugpeusiieubens  euflensLBHHIS. _

(i) pKp waiyselss @mprig aflens : CoHsNH,, CsHsN(CHs)z, (C,Hs),NH, CH3;NH;

(i) &1y euedemwwlsn gmeuflens : CgHsNH,, CsHsN(CHs)z, (C2Hs):NH, CH3NH>

Arrange the following.

(i) In decreasing order of the pKy, values : CoHsNHz, CeHsN(CHs)a, (C,Hs),NH, CH:NH»

(ii) Increasing order of basic strength : CsHsNH;, C¢HsN(CHs)o, (C,Hs),NH, CH3NH;
@yemiLmd  euflens @17 2 GourasPear maplaojh (X) g (Y) e Guirymediledr
Gaiwdhgian slemenylibg (Z) eein @bBs@n smamiulmer HhHBgH. X, Y, D@D Z enuwl
HEWIL 355,

A hydride of 2" period alkali metal (X) on reaction with compound of Boron (Y) to give a
feducing agent (Z). Identify X, Y and Z.

g8s@Ib Qm alamssEnse el wenss. ellenr e 336@ SLLTWITS
ellemL_WeT & 6)LD.

Answer any six questions. Question No. 33 is compulsory

geo. .ufls  onfeold @m BiEsGD SRl UL  HGhSH  CIBSHHIBBT_BHEHL6H
61611 5.

Show that sulphuric acid is a dehydrating agent, by giving suitable examples.

QoL FOlFHHBD BFTIOMIBET CIIMBIED  6T6i6NT  Bjewey Gl &(860“&5&)@65[. uswiLselevibbo!
eisueuTml LoTRILGABE?

What are interstitial compounds? How they differ from the properties of its pure metals?
URBL60 BlamsolLBHSHE0 QUBDED 6T6IMTe  6T6iTeN?

What is crystal field stabilisation energy?

Uips Slewiobisane Ligs sulgauoBn Saoriseflalmba CoupiL®sHis.

Differentiate crystalline solids and amorphous solids.
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35

36.

b)
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LsoLigSETen ellenanGauslonBn ellemeruisd Lyl Seuiseds LM eTeTen?

What is the role of adsorption in the heterogeneous catalysis?

SLEVAITEOL. BT SHSH6V allglemw  anpni FOGUTL6DL & Hme.

Qtate and derive Ostwald dilution law.

sieum> GSOPUTLE CHTUISMET 2 Beurda@n el Liflsissisr QUWITBmeT S1UDBIE.
(i) GusbeoresyT (i) GuNGLM
Name the vitamins whose deficiency cause
(i) Pellagra (ii) Beri — Beri (iii) Night blindness -
IDSGLD LISOLIQESTT 6T6iDTed 6Tatien? 61BS@IbST [Bassi SQren® Hms.
What are bio degradable polymers? Give two examples.

(iii) Lomemevds @ mE

. eneenFCym ellmenuisr efleneneuid (LPEMBEMILI 66118 G)5.

Explain the mechanism of cannizaro reaction.

uG® — 1V /Part—1V 5x5=25

SPESTGID el Enss ellenLwieMésajib:

Answer the following questions.

a) oimemays Baiiomidse s Qememigmed LlenemiiiLy Oarsiiensuisn CaTLTBEMmeT Famis.
' (Si8L6VG!)

) sa auflens o1 Lsusnemmuies CUTHSHENE(BH LOBEID 19 EMEHE 6166 B SHns
BWMUILG SE516.

ii) XeOF; — 60 smemtiL@io Qe aseoliy wimg?

b)

DS (PVBID DEDLOLIENL HHS5.
a) Mention the main assumption of valence bond theory of coordination compounds.

(or)
1) Justify the position of Lanthanoids and Actinoids in the periodic table.
ii) What is the hybridisation in XeOF,? Give its structure.

b)

8) i) saflo Gueiidsr saIILGIS wrgi? g esisung) swifléssiubang?

ii) WleiiBeug iy (pemmuisd Sideflwn  1INs05EH5660 SyTenur.

. SEIGE: ) S )
UWSIUBSSLILGESBEI?

Coupiun@asit wireneu?
i) smimen BOIFONGHT G HEUMBHET 6T6M6U?
©) Which is known as Inorganic benzene? Ho
ii) What is the role of graphite rods in the elec

REUCUTH  6u6mEsE @D 2_SNT6WID &H(Hsb.
W it is prepared?
tro metallurgy of Aluminium?
%) i) Wi : o%

/. Wrlte any three differences between order and molecularity,
1.1) What are the two types of buffer solution?
1) Ereveureils 106IEeE  @uiull e LDJLYBEMETT  6T(1DF1H.
1) o Be5hHe0 (intercalation) ereiBIed sreiren?

Give example for each type.

a)
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b)

b)

b)

a)

b)

(2160608))
1) umedILITEEs BHID LIT6ODEFenE6Y  auenFLLIQY.
1) 96 by — BB RmemAm sTIGNbsETar U - UBEED OBEID  Dysiam s

FLOGILITLIQ6MEN  6T(LDGI.
i) What are the conventions used in Galvanic cell notation.
11) What is intercalation?
(or)

1) Define Emulsification and Deemulsification.
ii) Write Debye — Huckel and Onsager equation for a uni-univalent electrolyte
B|DHEWIL  LOTHDBHIGSENET  6T6UEUTH @aa@_&,gﬂﬁnrru'_l.
(1) Bl Cyr Qusiider —» N - emensoenaml gréseoilsr
(1) yriuemeno® — Ll - 1 - ouse
(i) <efleSst —» p— epCrr iafess

(S16060G)1)
1) Gpresst seimred ersiien? Gpna) GFwsduTLigs ailenar sub(peppeni ellendes.
i) 9psGLmensny Gamguid - UTSTasH Sevenel  (psaisisneoulsd UGHWene] @BoHEGD

QUG eTsiTen Blapib?

How the following conversions are effected?

() Nitro benzene—y N — phenyl hydroxyl amine

(ii) Propanamide -— Propan — 1 — amine

(1i1) Aniline — p — nitroaniline

(or)

i) What are enzymes? Explain the mechanism of enzyme action.

ii) What happens when fructose is partially reduced with sodium amalgam and water?

i) X wpge Y s sgusssi BCC ugs  omwiniomen o meursedsmen.
BEUEF &F BT 585601 @psméuujlsb X ombsEpbd dASs omwusssy Y oemisyd GLD.
QupIBIBEHI. DFCFTLSSl6H SUTUWILILITE 6TsiTen?

ii) CsHjoO eigib  apevdbanm eumiun®@ Gaerewi  (A) elsid  sriusnensd  Gsiowmsng)
Grmguid enuFsOMUIL(BLET Ligs 6allpmer SHBAMFH. Gosd Sig  @GwTBLTumib
sllenensg o LuGsng. Gafon (A) g C.OusikismrFme @B E 68 60me0
stefled @amiod (A) emeu HewiLpile. '

(EEMEVE)) |

CsHiO o6l cpsudsampl -simu'_lurr(Bsml_uJ. rpi (A), oFmeney oLt HI o rar

CRItUUBGSSID BUTH @RremiB  EVMBED (Bm_frjsms%aasdﬁsn Csrhssng. Goaid @Rsamen

EINpUGES, Beiohssr (B) wmpgnb (C) &@mn&ﬁlm@j. B @ 9a&68xmBampb Qsuui (D)

o6p  SIflsod 2 HeuTdpEI. (ngmb (C) m ai,&;eﬂgg@sm,rbm@ v . & Burenr (E)

2 panama. A,B,C, D wpgh E g sai@luss elomarsaen (o)1
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a). 1) Atoms X and Y form BCC crystalline structure. Atom X is present at the corners of the
cube and Y is at the centre of the cube. What is the formula of the compound?
i) A carbonyl compound A having molecular formula CsH1oO forms crystalline
precipitate with sodium bisulphite and gives positive iodoform test. A does not reduce
fehlings solution. Identify ‘A’.

(or)
b) i‘\ﬁj]el‘ (A)' CsH120 when heated with excess of hot concentrated HI, produced two alkyl
1alides, which on hydrolysis forms compound (B) and (C). Oxidation of (B) gives an acid

(D) where as oxidation of ;
(C) gives ket E). i ;
chersica] etfiatio g one (E). Identify A, B, C, D and E and write the
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wrBf elemssrenr 11/ Model question paper I
Gusvplemsv @yewiLmb yewr® / Higher Secondary Second Year
Geuguiwied - Chemistry
(eymadeod wppd WP / English & Tamil Version)
STV Sjeney : 15 PIALmssT + 3.00 wewd Cordg WHlGLeISST : 70
Time Allowed : 15 minutes + 3.00 hrs Maximum MarKks : 70
Sifleyemyset @ 1. omasE alaimdasepd  sfwrsl  ugeursl 2 _siengn  saiLgmen  FHUTTSHSIE
Q@meiTeNaYLD. siFsLULSHesd  GopulGluleas oenpes  sevsreflliuTenflLLb
o Lemguingd OFfalldsa.
2. [SevlD (S1606G)1) SHLL emLouTlemeor L BECw S1(LDBHINUSHBELD
2I&ECHTYHUSBGID LWLBLGSHS Goueii(B. LLMIG6T IS BE ueidlsd
UWISTUB & SHEYLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
~ inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GUILY : Coemeuwitenr G S0 ULID eUdIHEH FSLTHEMET 6TIRHALD.
Note : Draw diagrams and write equations wherever necessary
u@® — I/Part—1 15x1=15
GOl : 1. Swasbd elamssepsEn alami wsissad |
CarBassiul L BTaE el seisy Waab giuamLw elmLemus CaithbosBHE
GBI BLeT el uisnenud Cidhal e1(pSHIsb.
Note : 1. Answer all the questions '
2. Choose the most suitable answer from the given four alternatives and write the

[

option code and the corresponding answer
1. JereumsuemeuBmist SHoummen gamml 61&1?
31 [Ni(CO)4] — Breiipd), UMITSMHS SHeiTenIOU|ENL LIS
3. [Ni(CN)4]2'— SHONFSHITLD, MLWITEHMHS HEMENLOUGHL LI
8. [Ni(CO)4] — mrrsii(pad, eLWTSMHS HETENLOUIDL LIS
. [Ni(Cs]* — preipdd, LUTNGIHS SEIeHLOWEHL LIS
Which statement is incorrect?
a) [Ni(CO)4] — Tetrahedral, Paramagnetic ~ b) [Ni(CN)4]* - Square planar, diamagnetic
¢) [Ni(CO)4] — Tetrahedral, diamagnetic d) [Ni(CI)4]2' - Tetrahedral, paramagnetic
2. ewapliBur urebugey Sibleudale &My SisuLD

3l | o). 2 8. 3 W 4
The basicity of hypophosphorus acid is
a) 1 b) 2 c)3 d)4

3. epp : QUi Lrag L&MI e Bt bsamiasd oidsvsseienio UM IH B &I
SMIeWID : Sieiwn FeoBuL BITHBLIGLILGHL 1S T60
Sl Gabpl LBEID &ryewid GFemEl & Guogud smyemITeNE FmbeE Fflwmsr ellenbol.
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: : o Auimen

&b BB OBEId  sMjemd  GesiGn  &f  Gogid  STIERIOTED) FapPitd &
616 BLDEV6Y.

@ obp N ey ST &Heum

FF.

DO OBDIDd STgem @FEHGD Houml
Assertion : Aqueous solution of potash Alum is acidic.
Reason : Aluminium sulphate undergo hydrolysis.

a) Both assertion and reason are true and reason is the correct explanation of assertion

b) Both assertion and reason are true but reason is not the correct explanation of assertion
c) Assertion is true but reason is false .

d) Both assertion and reason are false

sRmaBseisn CuISHeuTe smCambn BHlanev. f
3l +2 o +3 G. +4 7. +6

The most common oxidation state of Actinoids is

a) +2 b) +3 c) +4 d) +6

Q_;ﬁi)ILIUGD)LDl'_ FHraienel GeuesiaMuibss06060(HHS! f50506GL WD

S 2_HEGDHM oy STHMHsOT HIPFIE0 IDIHHE

B uBIBHH0 F. Weisrhs U0y Wens

Wolframite ore is separated from tinstone by the process of - ]
a) Smelting b) Calcination c¢) Roasting d) Electromagnetic separatinon
LeSTeumeUEmTsUBHIGT 615 SHANBTENHI7 |
ol QpTeHsefen CFWIEOLITL ML HBHS BFHUGSHS WQUILD
. SN0 QBT A SH6ITENTE0 Qpramaisn alameaGausonbo QFwsHUTH GBS BSHI
@. Oprs alenaBaud LOTHBBLOTEIS oPs BHihH CFweorBHID Heienloenlll  CUBDICTENS)
i3 | seowinier pH  wglenul QUTBHE OpTe  elmaGausorps  elleneiaserieT | Geuslh
SIHLOSIBSE! '- _
Which of the following is incorrect?
a) Enzymes can be inhibited (poisoned)
b) Catalytic activity of enzymes is decreased by coenzymes.
s is highly specific in nature

zvme catalysis 18 high ' .
Z)) ]’E[I; YI:tc of enzyme catalysed reactions varies with the pH of the system

er

A 965 gD OeTenl Lsms QUIBDISTST 6160 TeiiaseHeT sTeuTEnN 60 &
LOTHSHLOTSH

2 x 10% < 6.022 x 10%° @. 6.022x 10% w 6.022x 10*
. 6.022x . 0. |
éﬂh ber of electrons that have a total charge of 965 colombs is i}
. Zgl;_:rzn 10% b) 6.022 X 10% ¢) 6.022 x 10% d) 6.022 x 10
; % : | |
! G HHe  pBIY DL BEEFDT DIVEG Tal 16 (FCC) elefioy [Hembd 82 pm
@m o _Geors - . > !
slaflsn, 2 _Geumd Sigmiellern DpTL0 e

8
. 8x 107 B e
s 0.04 oy, 0.02 e 2
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In FCC unit cell of the edge length is 82 pm. The radius of the 'metafl__\atom gl o A

a) 0.04 b) 0.02 c)8x 10 d) & _

90 slomuls eflmmGaus wrfeduls vy 2.3 x 107 lit mol’s’. owielemenuds
aleneueusn s

3. YBW aumd Q. (PHED s [, @IHLTD 6UnE . (PEIDTD eI

The rate constant of a reaction is 2.3 x 107 lit mol™'s™". The order of the reaction is

a) Zero order b) First order ¢) Second order d) Third order

LIsieUbEISTIDBLIST GepaITs SmyLbdngll Hapamnrs o Us omyFe 667

3. owell Qupdsd > somyPps GuEssd (Ksp)

95 Sjwief QU@és&Lb < smrgiper Gumdsd (Kp)

B owel CuessL = smydps CuEssD (Ksp)

. (S) BYID (&) @y :

In which of the following cases, the sparingly soluble salt solution is unsaturated?

a) lonic product > solubility product (Ksp) b) Tonic product < solubility product (Ksp)

- ¢) Tonic product = solubility product (Ky,) d) Both (a) and (b)

UlsreuheusmeuBmie 1 Flwina QLTwhsalsoemnsy

ol BGwriife ' L. —CH, - C=CH - CHy
' &
0
o), eBEVTET — 6 —  —{NH- (CH,), - NHCO - (CH,), - &‘]E
&. GLMeSsh — '_'__oc112-(:}12-0-(:_0_&.]ﬁ
_ |
0
F. urtedodmfBeor enplenyed —  —-CHy-CH, ﬁ
| EN
Which of the following not correctly matched
a) Neoprene ~ o C: CH - CH
0
b) Nylon - 6 — - cHy,-NHCO -(<:1{2)4.(LE_]3
. B
c) Terylene - ] OCH,-CH,-0- (ﬁ_Q_EE_]ﬁ
o 0
d) Poly acrylonitrile - Lo, -zﬂz.lﬁ :
N

areumd dnppiseied e Fflwimeang?

o1 BusalCurems@ + ureburfe ufeon — BHuiselGwren @
o). PuysafCuims® + &b — BudelGurmLG

@. giseemy + &L — _njhgeﬁmﬂ@wrrsm&@

F. n HusefGurens@ — ureipludefiGwrmL G
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Which of the following statement is incorrect?

a) Nucleoside + Phosphate — Nucleotide  b) Nucleoside + Base — Nucleotide

¢) Sugar + Base — Nucleoside d) n Nucleotide — Polynucleotide

Uereumd  eflensulenr ‘D’ alenenQLITHem s
CH-;C] KCN—}A ' m,o yB

SHETL1 5.

My se—2 1y

o). CH;CH,3NH, &t CH3CN @. HCONH; #. CH;CONH;
The product ‘D’ of the reaction

CHJCZ KEN 5 A H*mzo_}B

B sC—2AD

a) CH;CH,NH, b) CH;CN c) HCONH; d) CH;CONH;
o]

AN

OH @6t [IUPAC Quuwit

S Tyl - 3 - reamulssndsob o Gy - 1 - Fel - 4 2y Sfleotd

@ e - 2 - mer - 1 - uis oufeod H‘.Lﬂu_ll'_-3-ﬁ‘6t'il—l-al_,,u5\é&<9llﬁ\61)lb
0]

The IUPAC name of NI\OH is

a) But - 3 - enoic acid b) But - 1 - en - 4 oic acid

b) But-2 -en- 1 - oic acid d)But-3-en- 1 -oicacid

YeieumeusnauBpiel 615 el Wbs Siflsod?

S 2 - enplBymiswmed a1 4 - @GenmGymiiemed

@. 4 - enpLGymiemmed | F. 3 - enpLGymisnmed

Which of the following is the strongest acid? _ _ :
a) 2 - nitrophenol b) 4 - chlorophenol  ¢) 4 - nitrophenol d) 3 - nitrophenol

ugad — I/ Part—11 6x2=12
gCoHeIbD D elamesEnEe el ehss. el eiewr 24 &@ SLLIWILONS
eflenLwierissea]D. .
Answer any six questions. Question No. 24 is compulsory.
[Fe(CN)6]4- LOMID [Fe(H20)6]2+ s @WaBMle  BissmyFesen OeusiGaup  HBpmLWS
5755'? 2+ : a8 !
[Fe(CN)ﬁ]“' and [Fe(H20)e]™ are of different colours in dilute solutions. Why?
Lu(OH); wbpid La(OH)3 60 Si5ls SNTHSHAMD O LWl 61517 6J6in?
Which is more basic among Lu(OH); and La(OH)3? Why?
Dy 1euGESHHe0 eeIeITH @Benmhlel Swimfitiumi?
How will you prepare chlorine in the laboratory?
upliL] &6Tge0elm ApUTWEOLIBET wimemeu ?
What are the characteristics of adsorption?
Hiimso ee () 6IDIEY sleiren?

What is Buffer index B)?
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0. — D(+) @@m&GasrenuiyGammenir DIEMIOLIENL  EUEH]E.

Write the structure of o, — D(+) Glucopyranose.

6THH660  &ensTdssmmeney Quif @IBuwimgds oNfdhsILer aubalmGamn allaearamuw 6T1(LD&I.
Write the chemical equation for oxidation of cthylene glycol with perlodic acid.

oS DIMOBILIGHFHB6TT ©_Ledsd sr6iisumm) Glawed |l asizeon?

How the transquilizers work in body?

Wisissushalsd Zn(s) + Co®" = Co(s) + Zn®* a6 ellenen Bsipadms). eBaGHEeT L
=+0.76V , E° =+0.28V

emf sewsaHs. QaTRodsIu L E’ ColCo*
' '

Znl Zn**

The reaction Zn(s) + Co*" = Co(s) + Zn*" occurs in a cell. Compute the standard emf of the
cell. Given that E" g =+0.76V and Eg o =028V

ugg — IIT/Part—III 6x3=18
9@ Qo elemssEse eloLwumss. elam g 33 &@ SLLILONEG
eflenLweldsajib., ;
Answer any six questions. Question No. 33 is compulsory.
HsTouGeuaaibens sebs o smyemmsenlsr o es.
CT: = TRl : . S &HFH
Explain the following terms with suitable example.
a) Gangue b) Slag

- BBwiremevl Basit LB @MY sy

Write note on Zeolites.

afelwid oppId SisTalle LWsIEmans Hms.

Mention the uses of Helium and Argon.

QUIT@HET MW SMFFH LT OLTHeydHmei FHONHHB M & 6001885 (Hb.

Calculate the percentage efficiency of packing in body centered cubic system.

WeiBsud euflems er6iipmsd  eremen?  Gsueuflens srsnenrrgjj ‘oiflotend  oepLwDd  FHmenen
sLBW UweTtUGaSmE? .

What are electrochemical series? How is it useful to predlct corrosion?

L=yl aLsd gmem( - ChL/FeCl r
DN BFmsn ATCE > A 13 3y B ‘C

A, B, C ggflweaumeny sewipils. Guosd ellensmuiens gr‘rg'f,g] QFuis.

Anisole 'b“f;"jg;"’"“"" »A—TC g 0 Complete the above reaction and Find

ABCC. . g5

(A) eigub &fos Gaiwo EEB®SWILBES G (B) Cerhosdma. ‘B’ oyemg CHCl3
B asvsEantd sops KOH o tar Gsiwn (C) g Osr@ésdns. Guad (C)
sllmenGeous omhnl (weielemeoulsd @BHSD QFiw N - QsHFHled Sisieden Sl sEmHI
siedled A, B wpmid C g sani@lily — elevansenen 6T(D&IB.”
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33.

34.

35.

36.
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compound (A) on reduction gives compound (B). (B) on treatment with CHCl3 and

- . r"
alcoholic KOH gives (C). (©) on catalytic reduction gives N — methyl aniline. Identify A, B’/@

and write its equation,
1) GLrgufefed
i) sriunddedds

i) How will you

|
|

Bl TeueuTm Queiiamuis onfleon SwmALLTL? /
S OpT@Hister gCsamid GG BETBMMBMET I(HBHIS. J

v prepare benzoic acid from toluene? /-
u).erte two tests to identify carboxylic acid. A
sifafeflwed  swsium enL LuELGS®, T; wppp T OGaltuBoessis eloaGas
oriiedss wemBu ki wigo k, eyfumapisr wHiusdnbs Seriam 2upped E.
BE BMESBL FOSHUT erems umalss. 3 "

Derive Arhenius equation to calculate activation energy from the rate constant ki’and k; at
temperature T, and T; respectively. |
ugd — IV /Part-1V

SPS&TEID ellamEsErEe L welssayb:
Answer the following questions.

/' §5x5=25

a) 1) GamBeorggafilen, & Gaiomimefen LemmsiT Wreneu? 2 Y
i) &M wpgd CO  oybu GysigeLst Zn0 oo gBs®, fADbs GBEED HMEH
61517 ej6ii? ; P W
(VG
b) Gur_Lrdlwd oLGCImeLL swIldHsmen alenbsEs.
a) i) Mention the characteristics of interhalogen compounds.
ii) Out of Coke and CO, which is the better reducing agent for the re
(or) |
b) Describe the preparation of Potassium dichromate. 4 : /
a) i) AICh 219® BlemeuLILISEIENLOUEDL WIS aemred TIC [ﬂmsuuug,g,smm%omggm@. gJein?
s6ey STamILILIGLD Henemiiier Seenioulensy - allenbG&Gs.
(D0 E!) Yk, 5%
LOTHBLD 61660 gisiien? 2 _SNIewID HHb.
gL ‘T epwBBmeT AleTSEGS.
here as TIC/; is highly unstable. Why?

duction.of ZnO? Why?

ii) o Geore HMTLIMET

b) i) mTGeIT eflenanGeus
ii) Ggerileumen auenUL S
a) i) AICl; is more stable w .

ii) Explain the bonding nature in metal carbonyls.

(or)
a) i) Whatis Nano catalysis? Give cx.ample,.

ii) Explain ‘f centers with a neat diagram. e L
)i) @B B0 AUDE elenanbaTal CBHTMSLILBSSUULL FeTLTL e,
' ii) yeirer @smmurr@asmﬂs&t SUENEBLITLGNL.  6T(LDHIH.

(DIVVEY)
Lufleorenr Q& TLiienL eume.

: spio pOH 866 8% 2 .
b) i) pH H@Id P AT GES  EOIHDE LGS gl - eteeuTml

if) Guoeort  BPIBD
ﬂﬁmujéaaam@aﬂﬂw?
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a) i) Derive integrated rate law for a first order reaction.
i1) Outline the classification of point defects.
| (o)
b) i) Derive the relationship between pH and pOH.
if) How solubility product is determined from molar solubility?

37. a) 1) evaiisl oEABRCmMBMID WHEIL VST e GUsTST ellsmem LB GO sueys.

i) 9fllps ofwsSmba ol gs  oufeoRERed BB L GCemmeny(

eTeusuTml SwmiléssuuGang?
(Dievsvg)

b) i) efinIGssflenr o ulfl (péawisHEnsmsds FnIb.

1) Giorgs Gampliueney (TFM) &y umnl @il euemy .
a) i) Write note on Swern oxidation and Schotten — Baumann reaction.

if) How will you prepare acetic anhydride and acetyl chloride from CH;COOH?

| (or)

b) i) Mention the biological importance of Lipids.

11) Write a note on TFM value.

38. a) i) g@uguist (monomer) Godemenz 005 mol L' aus o eten @muig (dimer)
2_ GG QrewiLmbd suens elmeauisr elemaiGausnd 7.5 x 10° mol L' s, alsnanBous
wrmledulleneds  aemiLnls.

i) Usiieud eleneeni 14iHe) Gauis.
(*) CHy,-cH=c-cH, _ D% _ 4 (y) CH,COCH, —%-OH—g-.
éH3 (i) Zn/ H,0 '
(D060
b) C3Hy(A) éreiip aflwg Bsiob Hg®™ / HaSO4 E8rimpwsnLibs Gsiwb (B) QBTREBDEI.
(B) oBwrLmurine Csngmende o L uGb. Gsiwn (B) ez NH, — NH, / C,HsONa
2 Ler elenen Ufibe ool Grraeniusi (C) mé s6EBE.  Biss N,OH (sirailansuued
(B) =uemgy HCHO o L6 aiewenin’ G @i (D) sm& 5@&51{5@ A, B, C oo D g
&6wI(BLIg. aIlenEIHEMET 6T(LDFHID. ;
a) i) The rate of formation of dimer in a second order reaction is 7.5 x 10> mol L' s™! at 0.05
mol L' monomer concentration. Calculate the rate constant.

ii) Complete the reaction

= HO; “Mg-Hg
(*) CH;-CH=C-CH, . » 7 (y) CH;COCH; —pry=»°
by, (HZn/HO ok
3

b) An organic compound C3Hs(A) on hydration with Hg** / H;IQSOJ, gives compound (B) which
gives positive iodoform test. Compound (B) heated with NH; - NH; / C,HsONa to give
hydrocarbon (C). (B) also treated with HCHO in the presence of dil NaOH gives compound

(D). Identify A, B, C and D. Write the chemical reactions involved.
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wrgifl eflewnggmsit I/ Model question paper I11
Gsvpleney @pewn_mb syed® / Higher Secondary Second Year
Gouglufwed - Chemistry
(symigleod wppd sOp / English & Tamil Version)

greod oene] : 15 Pl miseir +3.00 wewf Quorss WHLGUeREsT : 70
Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
sipfeyenyss = 1. simendHa  eflemmdsEpd Ffwrsl  Lsamrs) 2616 ST srs&lug:,ansm FflurTsSHidb
QEmeiTeneLD. aFsLUSD  Genmpulmlisi J@?&E@@UU"GT"“'—LD
2 _Legunssd Gsfaldssalb. ¢ ,’\ ,
2. B (oes)  soiy  owwloald) /Jr fﬁnm@w
NYECHTYBASHGL  LWSTIGSS CouswiBLb. iy r,\Ef‘ﬁﬂ,@['J QListTEFl60

e oL B b

LWISTLIB & 5H6)LD. AT
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately. :
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
SUIlL : Bhemeuuter @I Halsd LLD eunIHEI FGLTHSENET SIS
Note : Draw diagrams and write equations wherever necessary
u@# — I/Part—1 | 15x1=15
Guly : 1. oemaidHs efanbseEns@n el wefdsa
2. QeMhasslulL B ool sl Weab gHLmLw e)ilaﬁ)l_sbu_lgy CaiboGHBHIHHI
GUUI_GLeh aflenullenemuyd GFThHEI 61(105I1%5.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

1. @Crmenwed @GGarmamr( GComgpid @AMLIT&EMEL WEEFT Hn&samyaame CsrhsHma).
S|&60T LEhE6T HmSSHNG smyewromsr gjwefl

) Cr,0, > o) Cro, ™ @) CrOs /) Cry05

Chromyl chloride when dissolved in NaOH solution gives yellow solution. The yellow
solution contains

a) Cr,0; > b) CrO4 ~ ¢) CrOs d) Cr,0;

2. Smiys augaid Glsmer Lips JLITGT Lips 9F&&ES6T nmih Caremiissfs Qsm_ijy
&) azb#tca=Lf=y=90° &) a=b#ca=f=y=90°
@) a=b#ca=L[=90"y=120° ) a=b=ca+B#y=90°
The arrangement of crystallographlc axes and angles respectively i -
ayitEia i p y In hexagonal crystal
a) azb#ca=LF=y=90° b)a=b¢ca=ﬁ~_—y=90°
c)a=b;&caf=ﬁ=90"'y:]20° : d)a:b:ca;&ﬁiy:goo
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3. QuesfdeSlssr 6TEITLIG;) 6T6M 6V 6T LObHS)

3) 6u6dl Hleumyssf] 9b) misvoTamudl 6T
@) 2_awrieflpiy asrsfaeir ) gjLilev &)
Penicillin is an example of

a) Analgesics b) Antibiotic

¢) Anaesthetic d) Antacid

4. [Co(NH;),Br,]ClI - 6T6OT) 9){6T)6TTT 6L Cafusdng erédiuLomer Lommnfliuid
3)) auges HYID uehurgsd Lommniliuit
Q) Suige LHYID eer Sipme LrmuiLd
8) seflephd whmib Sjwerflurgeh omblwin
) Guig6u rHeluih o Hi
Which kind of isomerism is possible for a complex [Co(NH;3)4Br;]C1?
a) geometrical and Ionisation b) geometrical and Optical
¢) Optical and Ionisation d) Geometrical only
3. &pm: £iss emlfé SfsHe Ay gETE g 2 Gursd sorHmng 6T
SAMLTSY6T GuLLy CleusIGimieugedemey
amyewrn: - oplflé ouflon s 5HACaTN 9F manL resmer 25 1gCarHmid
Q&S G
- 3) S Hm LHYID STrevTd @Ol &, Smyes SIS smer eflurer aflerdstn ISl
Q) DM LHWILD STeveTLd @ GId Ffl. SmyevaTLh S puéaenr sflumer afleréeih ge
@) sy & gy eurmed Sy Sy
) & D) LMD SmTewTLD @TsiorBld Seum. |
Assertion: A small piece of Zinc dissolved in dilute nitric acid but hydrogen gas is

not evolved
Reason: HNO; is an oxidising agent and this oxidizes hydrogen

a) Both Assertion and Reason is true .Reason is a correct explanation for Assertion
b) Both Assertion and Reason is true. Reason is not correct explanation for the assertion

c) Assertion is correct but Reason is wrong
d) Both assertion and Reason are wrong.
6. Q@ Wsmams almeuflsir S(EOTEUTLEY SiTeuld 5 EILAIL_Mise sTesfled aflsmeor 99.9% (PpHmIGEU

QLG SmevLd
9) 99.9 Bl ruser gy) 49.95 AU e @) 50 fuflmuger ) 10 BBl rseT

The half life peribd of a first order reaction is 5 minutes, the time required for 99.9%
completion is nearly equal to

a) 99.9 minutes b) 49.95 minutes  ¢) 50 minutes _ dP 10 minutes
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rrstu VG petaLman eretled Wetrenmin s saName G En&CaTIEE QUITHHSTEI ?
9) @81 QySamilenn QaGILSDmey

o) @81 SF GG smrewfiyL s aflsmemLHisudsoeme
8) B8 esGsmmear QsTEULS D

) @8I Leussflsir smremflsmin RO\ Goddme

Glucose is an aldose. Which one of the following reactions is not expected with
glucose?

a) It does not form oxime

b) It does not react with Grignard reagent
c) It does not form osazones

d) It does not reduce tollens reagent

(CHz3)3C-CH(OH)CH; ©2 530 X (el sflsmsnGursit). X- starug)
9) (CH3)3C CH=CH, &1) (CH3),C=C(CH3),
@) CH,=C(CH3)CH,CH,CH;

- #) CH,=C(CH3)CH,-CH,-CH
(CH3);C-CH(OH)CH3 Lot s ( Major product). X is \
a) (CH3)3C CH=CH;

b) (CH3),C=C(CH3)2 o
C) CH2=C(CH3)CH2CH2CH3 d) CH2=C(CH3)CH2-CH2-CH3- |
log = wimid log p @ @mLifemsr Gysin & Ly sufshd suaius Gam ipsr emiey
m yo b
LHDID Y i&FS Qeu_plbujsTaflaeT (e | .
1 1 S R
) %,k L) 10g;.,k @) ;,k)gk ) log;, logk

For Freundlich isotherm a graph of log % is plotted against log p. The slope of the line

and its y — axis intercept respectively corresponds to =
: 1 | A
a) %,k b) log-;,k c) n,logk d) log e ¥0gk
@\ eLp6VSHEn M6 uryﬁﬂs&rshg,l.'_lﬂmrrmgu Gemguwih Lopud FST (psiraflsmeuudsh eflsmeoru’ B 3—
@lﬂ(ﬁsﬁTﬁ—Z—ngé\GbGlus&rGl_s&r bl fle 2 HeuT@GLo eflememumess)

9 Lol —&loeiTaTlenear o) Camit s flsd @miSetd
@) smaGuis afleneor ) 60SMLL60T—GLemLosar aflement -

Two molecules of propannitrile in the presence of Na/Ether to form 3-imino-2-
methylpentanenitrile. This reaction is known as

a) Baltz-schiemann reaction . b) Thorpe nitrile condensation
¢) Gomberg reaction d) Schotten - Baumann reaction
oSG GuTlé opfiowrarg 373K Gaulutloauie Sitses almarse 2 L u@ausgrs

- afsmem GILIT (6T
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13;

14.

15.
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3) Gl LrGumflé gyflsuid 1) Cumfls gyuilev Hifled)
@) GummeT Lommib g8 egsir ) GCorGumfls Sjlsuid
Ortho boric acid on dehydration at 373K produces mainly

a) metaboric acid b) boric anhydride

¢) Boron metal and Oxygen d) tetra boric acid

Wstreu(meusraumnled sflure Qurmhstss) g ?

(hSH@LD STyewt] cflewestudiesr Gy

3) Zn/ Hg / ConHCI SlemGlosrasir 6(h&eL0

o)) LiAlH, 2_60L1 Sl6euTi 6(HSH LD

@) Pd / BaSO4 GrmasampeT. H&ELD

) SnCl, / ConHCI . 6LeLieoflsiT 6(H)&SLD

Which one of the following pairs is not correctly matched?
Reducing agent Name of the reaction

a) Zn/Hg / ConHCI Clemension reduction

b) LiAlH, Wolf- Kishner’s reduction

c) Pd/BaSO, ~ Rosenmund’s reduction

d) SnCl, / ConHCl Stephen’s reduction

esreu(meusmraumiled 2 Uiy BrmiL@Ssnis e 2 LuLng o UL 6T ?

9) Gemguwid gyl G ) joGlomsafhud gyl G

@) oyGurefiu @Gsrrenr® i) Gemgiutd snml G

Which of the following salts do not undergo salt hydrolysis?

a) Sodium acetate b) Ammonium acetate

¢) Ammonium chloride d) Sodium nitrate

ﬁ]é&rm@mmm@;ﬁlaﬁ lsru@efl sLSsma QuT@hSg seammer Go )| 6T ?
9)) UTGSSemenlo GsomibCLTE) sLS&15Smer ojHsfsdns

3 Qeutiuflene oflsiflée sLssidnsr I|F&fS5Eng

@) fiss6 9Hlefse smyesdsar Guomsamy SLSZH6T &g

m) Goulufleney 9flafse s ssiEmsit GIRIWEINES

Which of the following statement is not correct with respect to electrolytic

conductance?

a) Conductivity increases with the decrease in Viscosity

b) Conductivity increases with increase in temperature

¢) Molar conductance of a solution decreases with increase in dilution

d) Conductance decrease with increase in temperature

Hesreu(mid 61158 6B\ aflsmear QeutiL@Iwé saflwe ;_f,]urj,g,sms&'rﬂg grsdummg) ?

c".q) Cr0; +2A] —» Al,O3; + 2Cr QJ;) A]2O'3 +2Cr— _Cr
Send Your Question Papers & Answer Keys to Our E-mail ID: Padasalal.Net@gm%u com
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16.

1:7.

18.

19.

20.

21.

22,

23,

24,

25;

www.Padasalai.Net www. TrbTnpsc. j('Zom

@) 3TiO3 +4Al —» 2Al,0; + 3Ti FF) Cr03 + 2Mn — Mn,O3 + 2Cr

Which of the following reduction is not thermodynamically feasible?
a) Cry03 +2A1 —» AlLO; +2Cr

: b) AL O3 +2Cr ——» Cr,0; +2Al
¢) 3TiO; +4Al —— 2AL0; +3Ti

d) Cr;03 + 2Mn — Mn,0; + 2Cr
ugd — II/Part—11 6x2=12

geHEID Wm alomeEsEnEd ofemLweliss.  oflam aem 24 6@ SLLMIOTS

ellenLwisf&sayLb.

Answer any six questions. Question No. 24 is compulsory.

Gumfls Suflvgems, sreieumm Cuysir eopL enyLTes sTelsumny LOmHmIEUT ?

How will you convert Boric acid to boron nitride?

UlsaTer(HLD LOMDMMBISET 6TevGMY) RenssiLGHns

) Gands ~3-met —— . QandeueT—3-gsir _

ii) Glusir&mevlp MOMEB ——»  2-smamiyTé:d e 98195 gjLblsuLd.

How are the following conversions effected?

1) Hex-3-yne —— 5 hexan-3-one

ii) benzaldehyde ————»  2-hydroxy phenyl acetic acid.

GoudlofNensorullstr Gousseng LTEG@GID smramflsmar GHIIHS. ;

Mention the factors that affect the rate of the reaction.

QT GLOTEOTSIT 6TEITLIENEY WIT606U ? ©_ ST CUT RIS & (.

What are harmones? Give examples |

EITLASIL (PmmUlleT S58I05HmE 66T Es.

Describe the underlying principle of froth floatation process

ST EMLOILIBIGEIT 6TEITLIEME WITEm6U ?

What are active centers?

emTsT—6 sTeusuTn SWf&sILGEDS) ?

How nylon -6 is prepared?

\Nyrés ELoetTUm(D) 6T6OTMT6D sT6oT60T ?

What is Bragg’s equation?

Netraugmid eflsmeureniu Hemmey Gls1lis

P4+ NaOH+H,O —

Complete the reaction

P, + NaOH + H,O ——»
ugd — 111/ Part — 111 6x3=18

JeHeId Suu SOMEsEEE oo welbs. oflem e 33 &g sLLTWONS

allenLwefdboaLD. |

Answer any six questions. Question No. 33 is compulsory.

Setraugpth oydd oflvsaflstn giamioiy LHNID STTSSIISMS 6T19s)s.
i) smamiiGur ursumflé SLileD. i) QLTSGHT umshoLmfé: gyl
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27.

28.

29.

30.

31.

32.

33.
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0 rr?rsﬂirr%ﬁ)urrrﬂa,gp.ﬁlmm .

Write the structure and basicity of following oxy acids

1) hypo phosphoric acid ii) ortho phosphoric acid
1i1) pyro phosphoric acid

UMES6TML(H GSMISSLD 6TETMTED 6T6aT6rT ? B1G68T AlHETRS6T WTEmE 2
What is lanthanoide contraction? Mention its consequences.

dlsursu@m gmmm& Caunissner 2 I souf genevfembigeflsr ‘gqmuuam_uﬁlsu smﬂsm&u@g,g‘,]
SISDSTET ST SH6NE Gn_(1)|.

[Ni(NOy)el*,  [NiNHa)e]™,  [Ni(H;0) ¢J**

What will be the correct order for the wave lengths of absorption in the visible region
and explain for the following

[Ni(NOy)6"", [Ni(NHj)e]**, [Ni(H,0) ¢

SuellE  Gejuhseflar g refdgn semmmed  sremen ? g,qu.lsuﬂfr (Beﬂrmrmaamﬂmﬂ Ulp.&
apaImLONDEGL gyrelldssHnEh G ulamsr Qsm_fmu g L amariLb\SEis.

What is radius ratio in ionic solid? Tabulate the relation between radius ratio and
structural arrangement in ionic solids.

GOy euewrs — S mamlresir Wsraumiil,
Write note on standard hydrogen electrode (SHE).

107 M ot GrrgGamfé oyfilgder pH semsd®s.

Calculate the pH of 10”"M HCL

GOy uenrs. i) Quarflp &L seores Gergmer. i) Koumse aflener
Write short note on 1) Benedict’s solution test - ii) Knoevenagal réactioh”
\Netreu(peueTEINIIDE STTEILD Sn Is. v 4

1) gjeuflafetr iFiev Symic eflmeré@ o Lubeadime

ii ) s levLblair Fiflev semmh Qyeurmed yeuflestr SevMLTE). |

iii) gjsmuH\ssnareil g isTaeT 9Hs SMySHS6Teni a_ml_u_lgj

Account the following -

1) Aniline does not undergo Friedal - crafts reaction

if) Ethylamine is soluble in water whereas aniline is not
iii) Amines are more basic than amides

sflwEGeaion (A) -CH;O, @efliy aismsug,i_tgmrraa umsnru@éﬂ,mgj (GlListrL_edr
amrenlGarem® (A) smw Iy, & Garmmid @&mmm(ﬂurrgj (B) wmmd (C) ereip
Gefuriseflsr svmamyu QsrGéasng. A,B angjw C I S6uoTLMIES] G]g;l'lLl]‘L[ED‘JLIU
elemeuTemiL 6T(LpSeLD.

An organic compound (A) - C3H;O; used as a sweetening agent, which on oxidation

with Fenton’s reagent gives a mixture of compounds B and C. Identlfy A, B & C. Write
Possible reactions '
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UGS — IV /Part -V
SPHBTGYID sﬂm$as@$@ aﬂmL.u.:sﬁlésamub:

5x5=25
Answer the following questions.

~Gluwesnr TG

&) 1) QoLfmeas S6vflLorigssir
@\revoTip smeuT GURQES
i) fl&semen SMismLLES s Pemmullsmenr el

6T6ITLY 608
SUTLIGmEL  WiTeme ? @oLflwas saflokiss: LI6TaT LG5 67T

a) i) Write the [UPAC Name for the compound Na;[Ni(EDTA)]

i1) Write note on the structure of diborane
elements?

'ly.gufu Yeasifleir 9ifles eflemesreimeir Glameior_g; eyer ?
60 6T6OTENT ? 2 Gy ewarL Gl&meor®) oflen (g 5.
(Sjevevg)

ii) @\emewur(iy LomElund ersrm

1) @@ aflmemufsr afener Cousih LHyith Geus LmlsSsmi Coumubsgis

a) 1) Why fluorine is more reactive than other halogens? |
1i) What is linkage isomerism? Explain with example,

. (OR)

-1) Derive integrated rate law for the first order reaction A — products

1i) Differentiate rate of reaction and rate constant of the reaction. .

) eflemerGousiombnilufisr QUTGIeUTST ListaTL&eiT wWirsmey ?

1) N@eresflwetr Qs sESsir s min wrg ?

b)

36. a)

(Sisevg)
i - - L] L] i .
.) SbeveumeuL. Bigee eflduflener sl oysmerer Carmeausmi OILHINEE D
1) Elensur gyfleuamy @\ snL 6T6iTmMeD sTetTERT 2 2 _gmyemrid Q.
1) What are the gcneral.(’:haracteristics of catalyst?
1)) What is the significance of Brownian movement?
_ _ A (or)
1) State and derive Ost,we‘lldl dilution law.,

1)) What are conjugate acid — base pairs? Give example.

b)

—
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37. &) dm @Ml eusmirs
i) o LeLoedT eflemeor ii ) &leflgymedlsir Bifdas allener
(Siveug;)
o) 1) GuiemL® Hemswrtin) — S @G ouenys.

ii) ol sHsaflar  GQewshu@nd ollgn wHNW  UWETSDETUDH  6THSIS.

B8 &6 (6568 2 STT6uTLD &(1H5.
a) Worite short notes on
1) Riemer-Tiemann reaction ii) dehydration of glycerol
(OR)

c) 1) Write a short note on peptide bond

ii) Write the mode of action and uses of antacids. Give an example.

38. &) ) o &ms. I e afll [Cl gidls aflmmsrdlnsr 2 6L ).

i) M, upmid M, oy @resr® 2 Carastisafler {6 LisrarwsshssT pemGu
E°, .y =23V ubmih E°, . =02V. Geme (@\T6toTI VLD 6TTHS 6p60TMI @)(HLoLl6aT

umiiurinSleor g ususneE fnkss) ? Ger@ssiu@errg £° .., =-0.44V

(Sjveg)

&) C/H/NO  et6trn  epovdsengy eumiur@eori  (A)  &iflwgGsajon Br, wpmib KOH 2.1er
afsmerrul (b (B) sow GQasrhsSHngl. B- wrsrg smemuslicr ellemerse@ 2 L uh@mg). (B)
DL LGET I 8860 sflemenTah (S o I (b © 6mILI GCar(h&SHms).
C-gierg) umpn&lGrsTasr @emeniy ailmersE 2 L ul @ (D) QerhsHng. A,B,C

LOmId D emiu evorLMkg) ellenearsemer 67(LpSIS

a) 1) Give reasons : ICl is more reactive than I,.

ii) Reduction potential of two metals M; and M, are E° =-2.3 Vand

MM,

CE° = (0.2V. Predict which one is better for coating the surface of iron. Given :

MM,

E°... =-044V

Fetty

(OR)

v) An organic compound (A) - C;H7NO On treatment with Br, and KOH gives an amine (B),
which gives carbylamine test. (B) upon diazotization to give(C). (C) on coupling with

p.cresol to give compound(D) . Identify A,B, C and D with necessary reaction.
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wrHf - eflemdsnsit TV / Model question paper IV

Guosbplensy @yewRnmb ayemE / Higher Secondary Se
GCeugulwisy - Chemistry

(SYBED wppd S0P / English & Tamil Version)
grood ierey : 15 BIOL_missit + 3.00 wexf

Time Allowed : 15 minutes + 3.00 hrs www.waytosuccess.org
. e &

cond Year

Qordhs WwHGUemEsT : 70
Maximum Marks : 70
&M eisusemen  FlunTHHIsH

| dFGLLATD  Gammulminiei DIMWeH  SesmemuuTenfl LD
2_LOQWTEsS Csfleldsen.

. DIMMDHH  aflenTdsEmid Flwrsl uheurs o sher
Q& et HYLD.

2 ﬁsuu? (S160605)) Sl emioulen et 1L BGw DB BHBEGD
SpSECETYBUSBED  LWEILGHS CousmiGn. L ks aUMIuFSDEG Gusidlsd
LWISTLIB & SHaLD. '

Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GUilY : Cxemaunen @ G860 LLID UMIBSH FLOGLTHBMET 61(LDSHLD.
Note : Draw diagrams and write equations wherever necessary

uga — I/Part-1I 15x1=15
. SImISHS sllaTbsEnsE@GD ool weldssan
2. OBMBssUULL Brsig el selsy s BLemLw ellenLenwlsh CHiThOHBHS!
GUUWILBLs allen_ulsenyd GFirés epaIs. - '
Note : 1. Answer all the questions

Gmluy :

2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
. emamlrmer CamsnsuBsefs Geuliuplasolssearenoulsr Ffwrer aufleng 6157

) HI>HBr>HCI>HF &) HF>HCI>HBr>HI
®) HCI>HF>HBr>HI #) HI>HCI>HF>HBr
The correct order of thermal stability of hydrogen halides is
a) HI>HBr>HCI>HF b) HF>HCI>HBr>HI
¢) HCI>HF>HBr>HI d) HI>HCI>HF>HBr
2. [Ni (C204)3]4' - oiehp  SiemenieyF GaiogHe0 Ni-afl Sienewiey  srent
9) 3 o) 6 @) 4 ) 2
Co-ordination number of Ni in [Ni (C204)3]4' T
a)3 b) 6 c) 4 d) 2
Ch
3. H3C-CH-CH-CH-CH,-OH - steiip Gsinogaeir aflumen [UPAC — Guuir
Cl CH;

3l) 4-&BenmBym-2,3-emLCoHFled GLIsHL &i-1-2460
Q) 2,3-a0L GELog&He0-4-@&CenmGym  GlLieiTL 681-1-2460
@) 2,3,4- enyOLogslev-4-&BenmCym  Liugl L 6ir-1-2460
F)  4-&CemmBym-2,3,4-LenyOod e G 6i- - 2460
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The correct IUPAC name of the compound ,

; ICH3
H3C-CH-CH-CH-CH,-OH
Cl  CH,

a) 4-Chloro-2,3-di methylpentan-1-o01 b) 2,3-di methyl-4-chloropentan-1-01
¢) 2,3,4- tri methyl-4-chlorobutan-1-o1 d) 4-chloro-2,3,4-tri me'thyl pentan-I-ol

. 2H;0; — 2H,0+0; aeip eflenenuisd 9@ @iiiiL Gprssie, Bl ssbe 484 O,
2_maursngl eafed oibs Crrsds B o man@h Gausb (Borsd ML Devas)
) 1 o) 2 @) 3 ) 4 .
During the decomposition of H,O, (2H,0; — 2H;0 + 03). 48g of O, is formed per
Minute at particular instant. The rate of formation of water at this instant in mol min™ is
a)l b) 2 c)3 d) 4

SungBL omfleflbETar  auenFUIEHBUITEINSI

9) @@ eI ITeT QUBmEEGL WenHemD

&) 6.22%10" erevdLyreiisst QUBPmBSD LsigHemLD |

@) @ Gwmsd Gsmosma LQWFQFLIL CHemeurer LO6EIEEmLD

F) @ Gmed eeusLgTeiiEsT QUBNIMEEGID WL

Faradays Constant is defined as

a) Charge carried by one electron

b) Charge carried by 6.22x10' electrons

c¢) Charge required to deposit one mole of substance
d) Charge carried by one mole of electrons.

. Na* swefl wppw CI swelssis owed Q,UI‘EI&GiT_-QPSD)ﬂ)GUJ 95 pm LDg_'rjmub 181pm.

siaflsd Na* ouwefluler ienemiey e

o) 4 <) 6 8) 8 LA
The radius of Na* ion is 95pm and CI ion 181 pm. The co-ordination number of Na* is
a) 4 b) 6 c) 8 TLid) 8 '
. GpusTTUmeaTsd CEHTEGUUBEG 2 LuG Gsirnowb
- CHjs
o) C¢HsCHO : 21) CH3-C-NO;
| WCHys..
@) CsHsCH,NO, F) @6 ImaSHID
Nef carbonyl synthesis given by
« o ICHy
a) CgHsCHO b) CH3-(-NO;
- CH;
c¢) C¢HsCH;NO, d) All of these
dereumo 61bs oweflullesr 2 (1] Ceuewientd BB WEI?
o) Cd** @) Cu?* @) Co*t ... 5 VvV
Which of the following ions of salt is white in colour? | _
a) Cd** b) Cu** Q) o™ o d v¥*
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10.

11

12

13.

14.

www.Padasalai.Net
eireubeleTaIBilsd 6151 aglmdsiseamiowem ui FalDIOID?

o) aiflefls sevenul g i
@) ansGom@Genmiilei <) Gl @@Lunassm@
F) SMJ FTURIGEH

Which one of the following is negatively charged colloid?
a) arsenic sulphide '

c¢) Haemoglobin

www.TrbTnpsc.Com

b) Ferric hydroxide

d) Basic dyes

GaBOI umgT SiFILLoTed Bpid suedlifler o@weme Gy Hleuryenfleei

35"![5“““9.: f—“”{“ SIFALLIoM60 BEId Serollflelr euEieney oW BFIDL I VEHMS ST
sLGUBGSSULLL BEID el QFwsienpuled o emiiell|pddd6iF i sime.

Sl) SaB@l WBDID &Mrewid @rewiGn sf sryemid sappidbsTen sfwrer allendasOTEGLD.

&) PO BPID BTIewD @QyeniGn Ff sryewb sbpbster sfwrer 6fenbas0s060

@) sbml &Fil ML SMFWID Houml

F) GaBE@l WHBHID STJed SyewiBn seuml.

Assertion : Paracetamol and aspirin are both antipyretics.

Reason : Both paracetamol and aspirin are controlled and reversible loss of concionsness by
affecting central nervous system

a) Both assertion and reason are true and Reason is correct explanation 'for_' Assertion

b) Both assertion and reason are true and Reason is not correct explanat'_ion' for Assertion
c) Assertion is tue but reason is false. | (R

d) Both Assertion and Reason are false.

Qe Budbsealsiuy SiHs Beneol SaeL QEBmewiL. mTLIeu6 um@snm@rsmw QllgeULD

3 emeurLD Q1) . .Lsveuieireelt @) ..Slymenu F) g;q(%_é;rrr _@@qmassﬁ
Thermodymanically the most stable allotropic form of carbon is ' N
a) Diamond 'b) Fullerenes c) graphite d) Neit1_1_o fub.es
&6l CEBTBEHBULL NEIBEHET HS Gl RBEBTE FiHSM]?

3l) GEHHEHTETD o) &BEITL @) 1omeL6L TN ) mngf_,@.,_.r_,_m_
Which 'oné given below is a non reducing sugar?

a) glucose b) sucrose ¢) maltose d) lactose. ..
et eumeuaaubied a1l -FiuTs QUIT[HHSHIEVEMEL.

Si) LTevelr BTy AgNO3+NH4OH |

o) Queelm HMIFE - CuSO4 + GyreFsBe0 2L

@) Ousfigs Seogasd - CuSO4 + Gamouib AL G+ NaOH

F) Guuwiflslr smyemil . oLt HCl+ prms ZnCl,

Which one of the following is incorrectly matched?

a) Tollen’s Reagent <~ 'AgNO; + NHOH

b) Fehlings solution - | CuSO4 + Rochelle salt

c¢) Benedict’s solution -  CuSOj4+ Sodium citrate + NaOH

d) Baeyer's Reagent -+, .Con HCI+ anhydrous ZnCl;

QuTgleuTs FeoeLB FrEIHH6T BIevy OBHUL] @mmujlsb‘ aLF{dé&ngﬂm@J. ‘el PleflevbaTad
Seonph abs FHELE H1E CaBbagais (DI oLlssiuGaDs!? -

o) SITOpgeienL L &) HESEIT @) sriui UL ) eroGiusuemL
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16.

[ 3

19.

20.

21,

22.

23.

24.

BoLplenevd saflomisst wIGUED gEHmGambn Bansvamuw CuBMELLCHe?
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Sulphide ores of metals are usually concentrated by froath floatation process. Which one of the | |
following sulphide ore offers an exception and is concentrated by chemical leaching. |

a) Argentite b) galena c) Copper pyrites  d) Sphalerite

Ag(CrO,) aeim BaFmodalen aenyamei OumssHBHMEWw (Ksp) G BN HBEDUBE LD |
(S) @ew_Cuiwmenr QLT §

) Ksp=S® <) Ksp=S* @) Ksp=48’ w) Ksp=38’
The relationship between the solubility product (Ksp) and molar solubility (S) for Ag, (CrOy)

a) Ksp=S’ b) Ksp=S* ¢) Ksp=4S’ d) Ksp=3S? )

uggd — I/ Part—1II 6x2=]
ges@Ib Qm elamssErse olomLuweiss. olam oo 24 &@ S LIS
allenLwiefléEa)Lb. :
Answer any six questions. Question No. 24 is compulsory.
umeoLTERs BLTeY emiBLyERel QUEILT Gamsmeo@mensT O ([HAUTEHEEUS606meD 66517
Nitrogen does not form any penta halides like phosphorus. why?

Why transition elements shows variablc Oxidation state?

[CO(NH3)501]804 wpgd  [CoCNH3):804]Cl-gg CaupusHwudun  @m  BCersmenmw
(DI

Give one test to differentiate [Co(NH;)sC1]SO4 and [Co(NH3)sS04]Cl

Ourg Swedl ailewene) sepTsd clsin? Q@ 2_HTFERID (AL {0}

What is common ion effect? Give an example

Bl STVSHDG STIUT  FOBUL DL Bmbys . seveafisd Crlldm emeudse  @uwisyion?
Qasrhéslul L. :

E® =0.34V wpgo E°_,, = =-0.44V

cittc,

Is it possible to store copper sulphate in an iron vessel for a long time?
Given E° e, = 0.34V and E° =-0.44V

™ IF,

LEReiw euend allmanuisr Sienampe| Sreusms HMHDH (BB
Calculate the half-life period of zero order reaction.

WL 6I5F0 FSHMed LweisEeT Breiiaena gnms.

Give four uses of diethyl ether.

Sevafleflen el LT ouwef (@mpsnan Suwuel) SenwlienL H([H.
Write the Zwitter ion structure of alanine.

26016 LSS QLML &6I 6Taiiens WiTenen?
What are food preservatives?
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U@ — [/ Part — 1] 6x3=I8
gBHMID W NENTEHDEmSHE, AN WISTN e,

. . MIGTT sl6% 33 S@, LTINS
aleLweafdbasayb,

Answer any six questions, Question No, 33 iy compulsory,
MNeNT LMD - .
(i) mHHE (1) STHTDOT @HIpaTs0 s1mHmen.

Define the following terms

(1) Roasting (1) Calcination

g Grl GHTHHHN (Wsnmsmu Lmas FuEBing susnys
Write a note on Fisher Tropsch svathesis

[Ti(H:0)]™" -Bim apsoiwig snemsd [Sc(Ha0)]"

. -IB BDmE alanbd)dh.
[Ti(H:0)g]™ -1s coloured while [Se(H 06"

s colourless. Explain
SUTBISHEY  SHMDBUTLIGENEN 631611535,

Explain Frenkel defect.

GansoieGamTlat Well ZILdL iGdhE sepTst et

What do you mean by Helmholtz electrical double layer?

DN BaNBHHEGH N6 HTOTENHHID LIy SIIUHNE D_dT] e HAHI_GH ol dbEHb.
Explain the rate determining step with an example.

-G53 00 Dm&HF6I-2-2150 AT SflGeTTH  STrsmiisfimhbal Surfiiumi?
How will vou prepare 2-methyl hexan-2-ol form grignard reagent?

GBIy MIEDTH: 6ILATL  allsns.
Write note on Etard reaction.

CNCl soyne  swmiun@svewl  BwdCainon (A Guahzrew Gudsiaiup  yGTTaLBL i

Mepsmyfiam Gamop B — (CilaN) @8 HHHMHE. B-2ummpl oMnaiGais ety T
weLpH Gxmow C - (C:H-N) m5% mopsHpa C-mrramusifss  alsnsnb@ 2 LuRammn.

seflsd Gampin A. B wopmh C-soiwdh Sesipihsl ol snsusman sHpHISH

An Organic compound (A) — CNCI react with methyl magnesium Bromide to give comipound
— (C3H1N). B-upon catalytic reduction to give compound C = (C;H-N). C gives carbylamine

test. Identify compound A. B and C and wr ite the reactions.

u@d -1V /7 Part-1V . 5%5=25
BDSETEPID NGB EHHS allsnL waflébsma|b:
Answer the following questions.,
DI GOTTHHANTUIHEHHATUND g ST HIHHADNILL HUHH
(. DaE0H])
) 1) Fyadest Lweiidsi GRyssigsnan @i bheb.
1) Gty BmID ST @ Ui doatl 1Tl @I st mahdt allanedl L))
a) Comparc lanthanoids and Actionoids.
(OR)
a) i)  Mention any two uses of Zine
. - = . . o : : i g )
i) What is the reaction of Ammonia with Iron and copper salts”
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i) QuTLTed Ligasyb 6T6MeuTH 5wnm$mﬂu®£m@'-
(:9!6060@)

<) 1) Buibiwed urly seuréEd, Geugdulwsd Ul seutéd Beumiudss

i) Qprs allenanBeous ITBBSSIHEG BH 2_sTyewid BHHB

a) 1) What are inert and labile complexes? | '

a)

i) How is potash Alum prepared?

— (OR).

1) Differentiate physisorption and chemisorption.
ii) Give two examples for enzyme cata1y51s

S) 1) Bluio BLESBISMT  oBEGID  GomeorT - esl_g@@g)smﬂ G]JGU)UUJQJ&'&; O TS T 15

QmmLiTY OlamewdiBeireren?
i) sreveuteflas LsimeomisEssn Luuuurrm)g,glsm LII'E:]@ eT6dT60T 7
(DI60eVF1)

<) 1) oweliiLgshiseia L SsT Wrene?

a)

b)

3)

<) 1) @)U HBIS6IT LD[IJ[D]LD &Cenmmenmit

i) eorull onflevary GsmsiensemiL ubnl” @pily suenys.

1) Define molar conductance and specific conductance How they are related’?

i1) What is the role of salt brldge in Galvamc cell? o
~(OR) -

i) What are the characteristics of Ionic solids? :

ii) Write note on Lewis concepts of Acids and Bases.

1) adsamevens Side elsnarCGsus B (peiraiensoullsd Bramm sﬂea)s‘err&,@ 2 L@

FHBHEME  H(HLD slemeulle efleme m@@@mmm ST GHIB.
1) dereu@md efleneuisy eflener QuTmst X woBpId A-6dWl HewiLfs.
, CH3MgBI'_: ; @.lu'i]ﬁ\)
SFLemLe0 GCenmemglf — > X ——>A
- H;0" K,Cr,0,
(I606V))

wiremney?
i) GbSHTHES 6Tem  eumFm. D& WGBHHT  UTHISTIY  SHeenIou|L 6
CaTLIYUGSSLLBGSIBSI? B
1) Write the mechanism of acid catalysed dehydration of ethanol to gwe ethane.
i1) What will be the product (X and A) for the following reaction? |

CH3;MgBr acidic

Acetyl chloride — X > A
H30 KzCI‘gO'}

(OR)

1) What is the difference between fibrous protein and globular protein?
ii) Define the term therapeutic index. How is it related to the safety of the drug?
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38. o) 1) A,ng’jg:ub C-oow semiLges -
HO = - OH
_\H/\/\"/ SOCl;, A _NH:, p LiAlH,
@ 0 .

1) cg)h‘ﬂl_(BL_FTGHT DUBMFM  RTUEHBIT QUyTdhS gneﬂ:_u;as ilevd Q@&Tent(H
a},&aﬂg@mmmw QFLHTE sT6iten BB ptd?
(06U
&) i) 25°C-s0 avemaileur BrhsHatew Guoteut Jaui,g,@g}sfn wHyssTed BHbE AHALIgdb
SfleuHHen A CH3COOH - HWHDHHS

Wleitu@er NaCl HC] CH;COONa
. A° :
(S em? mol™)y | 1265 | 4262 91.0
ii) &fwsGsfiow C,HO (A) — Lrevetad opgte Guedn  sengssd CFTHMIBE

o LUBSma? B (A) Guspamsd wppo HCle s elemar Ufihe Gsmon (B)
CsHiO: - sm&pg. Gsiwd (A) Ousseawis Biss NaOH psiaflansoulisd
sleneyfibg  Gamod (C) — C3HO, —mey Gatesipg. eefsd Gamomsst A, B
o C-ow SEILBiba lmarsmen PGS,

a) i) Identity A, BandC
HO N\t O

SOCL, A _NHi, g LiAlHs

11) What happens whcn acetoneoxime on oxidation with triflouroperoxy acetic acid?
. (OR)
a) 1) Calculate A CH;;COOH usmg approprlate molar conductance of the electrolytes
listed below at infinite dilution at 25%
Electrolyte | NaCl _ | HCl . | CH;COONa
AO P : :
(S cm’ mol )
ii) An Organic Compound (A)- CzH.;O reduces Tollen’s and fehling’s solution. A-react
with methanol and HCI to give compound (B) — C4H9O,. A-on reaction with Methanal
in the presence of dilute NaOH to give compound (C) — C3HgO,. Identify Compounds
A, B and C with necessary reactions.

1265 4262|910
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" il eflemgsrer V / Model question paper V
WeOBIeney e mb uem® / Higher Secondary Second Year
| Gouglulwsd - Chemistry
. (QWEEFleold oppd Hop / English & Tamil Version)
&MV Sieme] : 15 P missit + 3.00 wenf) OCords WHUGUeRTSEST : 7

| Time Allowed : 15 minutes + 3.00 hrs Maximum MarKks : 70

DTy seit : 1, DVNGHGH  elemdsend Flwrsl  Lgema 2_6IIeNSN  eauGSemes  FAUTTSH SIS
GEBmeNeMA)LD. oFsLUSellsd  GopWGllEs omps  seHsTeNiuTeTfLD
2 _Leangunssd gfelldaan)b.

—

2. [B6oD (S1606051) &(HLUL emLou lement TG 1SN HME LD
SR&BBHTYBASBGL LWLELRSS GouemBld. UL RS aDISBE GUeds
LweTUB SHSHaLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately. - '
2. Use Blue (or) Black ink to write and undetline use pencil to draw diagrams.
@UlY : Comeuuner @L & UL QI HEI FHLTHBMET IIBALD.
Note : Draw diagrams and write equations wherever necessary
u@® — 1/Part—1I o 15x1=15
GEUY : 1. SimeHH elalneEsEnsEn allenl wefdsab ' o
2. Qer@ssLUULL B aloLssalsd Wsah ghymLw almLamwsd CHThosBHS
GHUT GLer slenLullenanyd BaTHal 611HIS.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer '

. Gar@ssiul L elanerullsd [Y] ereiLgl

H,SOg4 - (1) NaOH 2_p@ssb
CeHsOH — [X] > [Y],
110°C (LP&6ITEMLO (i1) H
allemenGILITHET

OH OH OH OH
- SOH ; : OH -
1) a0 | ) FF) |
SO3H H ;
In the given equation
H,SOq4 (i) NaOH fusion

CHDH ——k  [X] > [Y]is
110°C  Major Product (i) H'

OH OH

OH OH
S0H . OH
a) @ b [ ) @ ) C'/
SO;H H
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3. Ueteumd Camomiseailsd epas

www.Padasalai.Ne a‘ﬁ
2. ﬂ]msu(r_r; MBS0 61860 LS SirLies

o) Basmeoll ellenenr
@) DUGVLMEL GHmIBHLD
In which of the following reacti
a) Kolbe’s reaction
c¢) Aldol condensation

www.TrbTnpsc.Com

- &TU6 ensm )
Q) o 6o, Ldedent eflenan _LI 2 (HeuTH6606m60 7

F) Aified &y alement

10ns new carbon — carbon bond is not formed?
b) Wolf kishner reduction .

d) E]‘iedel craft reaction
POTMI euedlenin VShs Sryin?

o) Y <) 2
&, T, &) e FF)

0,
Which one of the following compound is a strong base?

KN b 5 NH, NH,
N =
b) C) @ : d) @

CHJ NH; OCH,4 0,

gapm : DNA capevdanpiled  ensifler @enem, gmemsmw ® _I_aIld

mal Qe - Esmemi
GEUTENENET 2_L GID EememitbgI6TeN ).

SJERILD Qrewi® &1y EepsErsdmLCu o sier Gm@gl_gggsm UepamiiL|  &ysionss

SIMDBH B

Sl) GBDl LB ST  Geddl  &f  Goed  sryewD, gapfiberar  sflwmen
eMl6TT 8B LOT@GLD. 5 ; ; -

oi) SMBm  BDID  SMYewID @UGWUT@LD gfl, <eyenmed @MyewID  dmpUimsrer  flwmen
al6T & LDEV6V. -

@) amm &f QUeTed SIFemID SHougm.
F) &nBm BOID STyewid SerBld Heuml.

Assertion : Thymine pairs with Adenine wheareas Cytosine pairs with Guanine in DNA
molecule. '

Reason : The hydrogen bondlng between bases of two strands is highly specific.
| a) Both assertion and reason are true and reason is the correct explanation of assertion.
b) Both assertion and reason are true but reason is not the correct explanation of assertion.
¢) Assertion is true and reason is false.
d) Both assertion and reason are false.

UeiieumeneneuBmien 61bH @I DSSLD uauuu; .
3l) PGA 2)) | MBEVTEI-6 @) PVC #) HDPE

Which one of the following is a bio-degradable polymer?
a) PGA b) Nylon-6 .c)PVC d) HDPE

200K-60 g efemanuis eflmenGouss wrpfledufsir waiimeng, 400 K-60 2_6fsr ENENIETES
orfedulen oL el 10 WLEEG GMDs, sl Sibs Sepeanulenr  &enitey @bt
A esmen? (R= euru| ompiled)

9l 1842.4R <) 921.2R @) 460.6R - ®) 230.3R

The rate constant of a reaction at temperature 200K is 10 times less than the rate constant at
400K. What is the activation energy of the reaction? (R=gas constant)

a) 1842.4R b) 921.2R c) 460.6R d) 230.3R

Ustieumeusmoubmisii  HILOEVSHBMTFRIBE gflwnengl 61gl? — i )
2) [H;0']>[OH] <) [H:O']1<[OH] &) [H;0']=[0H] m [H30"]<[OH]
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Which of the following is true for acidic solutions? - :

a) [H;0]>[OH] ©b) [H;0]<[OH] ¢ [HJO]—[OH] d) [H30]<[OH]
Bubmaulsy eurald Beowrs BEUUSDES. STJenid o _
3l ampsaEsTaslsa Waipmeand saTsd e v

o) UOyenefwen ellsnere i gy

@) ewiLmed ellensa)

F) UTeOLFFenSHe)

The blue colour of the sky in nature is due to

a) Electrophoresis of sol particles

b) Brownian movement

¢) Tyndall effect

d) Deemulsification

o _BeuTd (GH6MDUETTEN @smmurr@ esrrsumuu@w L&D
1) NaCl &) KCl1 @) ZnO

7) FeO

The crystal with a metal deficiency defectis =~ .~ = o
| 9 zZn0  d) FeO

a) NaCl b) K€l : =
LeeumeusnuMII6 6181 SHIenemT uﬂsm&sum
o)) BeudeuTEh8F LTS 6V6

&) SHHWID - S Lﬁ}sm@mé]uuerﬁeusm
@) utsys Ul e DBl ébeaevaT

®) (@) b (@) Sreen ofl.

Which of the following is Secondary Cell? _
a) Laclanche cell b) Lithium ion battery-

¢) Mercury button cell ~d) both (a) and (c) |
B6TE OIBHBHS BOLBMS g;aaﬂwrmasaﬂam (Cr, Mn, Fe & Co) +2 a{,asé]g@smgm

Hemsoullelt HENEOLILS SN auflang [g@]am Cr (24), Mn (05), Fe(’>6) LDL'JQ‘.HID Co (27)]
o) Fe>Mn>Co>Cr V) CO>Mn>Fe>Cr 3 :

@) Cr>Mn>Co>Fe ) Mn>Fe>Cr>Co :
For the four successive transition elements (Cr,Mn, Fe & Co) the stablllty of +2 0x1dat10n state

will be there in which of the following order? _
a) Fe>Mn>Co>Cr b) Co>Mn>Fe>Cr ¢) Cr>Mn>Co>1:e dj . 'Mn>Fe>Cr>Co

lj]s‘men@amsum@m 61 LTYT SMhHS HeenD @umgysnsngu? !
) [Zn (NHg)i]* 2 [CONH)T™ & Ni (H20)6]2+ ~.m. [Ni CN),J*

Which of the following paramagnetic in nature? - e gliant o
a) [Zn (NHj),]* b) [CO (NHa)]**  ¢) [Ni (-HZO)(,]zf. ©d) [Ni(CN)*

deiisupdo HzBO3 upmlw snbmisefled Heumpmeng srgy?

9) 8% @n awelmw 10g WesaTrsHen difleod : :

o) % Guryrseien BiésmIFams HOsOlILGEHS _e_r,mrrrﬂes&uu@a%]m@

@) Ba BO; swvgsst enaml rege Lensutilanmso lesmewasasuul_@ @4@5@
DIEMILENLIS  ClbTa BaiTegI.

F) @& YGrrliLmensn suphi@GasBE, ug,ﬂa}rr&'. ezs)@u_grrasmﬁlsu .g;u_lsuﬂsmu.l gbpis  CsremiB
rul suflevons G}&Lusou@aﬂm@j -
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16.

17.

18.
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Which of the following statement about H3BOj is not correct?
a) It is a strong tribasic acid
b) It is prepared by acidifying an aqueous ‘solution of borax.

c) It is a layer structure in which planer BOj; units are joined by hydrogen bonds.
d) It does not act as proton donor but acts as a Lewis acid by accepting hydroxyl ion.

eieupsueneuBmist Cayed onfevd e1g?

o) H S203 Q) Hi S; O ®) H,S0s ) HySO;
Which of the following is caro’s acid? |

a) H; S;0s b) H; S, Oy c) H;SOs  d) H;SO;

SIUMLWTSGHSMN GUULIGL efsnanureg 61bs (Lpenm?

Ti (gruenwwbng) + 21, 550K Til, 1800K, Ti (gmw) + 21,
) ULWOBH6L &) WemILey &AMy

@) eumelr - SyfTEEOLPMD Iw)'rllwrrsﬂn'_(ynsmgj 7~

Which method of purification represented' by the equation?

Ti (impure) + 21 550K, Til, 1800K Ti (Pure)+ 2%,

a) Cupellation b) Zone refining
c¢) Van - Arkel method d) Mond’s process.
ug# — II/Part—II  6x2=12

g8s@Id m elemEsEnsE almLwualss. elam o 24 $@& SLLTLIONS
L Wie & HBaLD. /. R

Answer any six questions. Question No. 24 is compulsorjf.

BTEUTWE FLOBIEN6L 6IGIMTE0 616360 7

What is water gas equilibrium?

@Bgmai (03) @ 6U60EmLOULITE %&eﬂg@mm@w &.rrustmﬂmrr@w sjam"

Ozone (O3) act as a powerful oxidizing agent why?

Leiteumid eflenensener LTHS Ceuis.

i) 2MnO, +4KOH+O, —»

") Cr, O + 14H + 61—

19,

20.

21.

23,

Complete the following reactions.

" i) 2MnO, + 4KOH+O, —>

ii) Cry OF* + 1449+ 617 —>
Bisr SIWeAlCUmHESD auenTWDI
Define ionic product of water.

MABLIERE FLMUB euTLEmel UTFMS  UBMVE  HMIFO  eufluires CFISHSIDCLTE)

eistien BHlag? Geudl (emmulier Guwflensnr GUILLGES.

What happens when hydrogen sulphide gas is passed through a solution of arsenic oxide?

Name the chemical method.

Lyshiseien @uisolliphsHsd LByl @Ml GUen)e.
Write a note on denaturation of proteins.

QLfeSer ereueurm SHWMTSSEULESABSI?

How is terylene prepared?
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Tshsuie - Gainoiusandg, IUPAC Gu LIT’J):FDrTIi Sl HID. :

(1) CeHs-O-CHy-CH-CHy : (i1) (‘l-l; =CH-CH,-CH,0H
BIg T

(1) BCwWT Gllisdlent_su DUAVLABIST (1N A5ail s’

Write the TUPAC name of the following compounds,

(1) CoHs-0-Cl I;~(|-'I [-C'Ha (1) CHy =CH-CH>-C'H,OH
ChH;
(111) Neopentyl aleohol (v Glveerol

M 30 Gamlaon i suslanic HMNBHDH  DHBNFHBHISY OG0 dHa0T a0 501 FILTAN DL HIHH 1353

~ —~ -t o= ' . . * A y r ¢ o2 r - s |
wHUY 6 Guwr Gu.ad somemp WHWILD sl 0601 BrdhHanbd 400 Guon.GFe” Fwismg
2B B dfavdHds gy s WA &S 1D LN Hemldbds (B db.

The equivalent conductance of M/ 1(\ sulumm of a Weak monobasic acid is 6 mho ecm? equiv’
and at infinite dilution is 400mho ¢cm® equiv’' Calculate the dmou’mon constant of this acid.

ug® — HI1/-Part =111 ' 6x3=1§
ges@ID i el @TH&B&BU&@) sllenLwieldm,  sflerm eedr 33 d@ SULTWLTES
allenLwieTildaa)Lb.
Answer any six questions. Question No, 33 is compulsory.
BurBrl  enwusisnul ssusummy SMILBUT? HFH0 2 _aiten allnaidaan 110 His.
How will you identify borate radical? Write the reactions involved.

GovLhonsvd SNBSS 10500 BBt GFiomkibsi A MBNUYBDHBNTH  OFWsLHH SNBeN
gei? : : '

Why do transition elements and its compounds act as catalyst?

O.IM HF amygsd suademn @anp  oidsoln hairs0 3M, HF &aao)u&“ai)' suadanio 10 2l solt
5o’ B _

O.1M Solution of HF is weak acid. But SM mlutmn of HF 1s stronger acid. Why?

Waliow  saagmd  (FCC)  aispoisny - suay b, _;@45}1@1613@&3651:_@& STaMULIBLE
MDA N 5103016000 hoMebaNiLl  HENTHBIF.

Sketeh Face Centred cubic unit cell (FCC) and caleulate the number of atoms present in it.
2_WIhBdsit wimiD SlenelGausblonbn BFa senmirsy sTaian?

What are promoters and catalviic poison?

A — B sy Gutsisutan sWonoldidy A-si  GaFmaydb: jm @mjg@r}@m @G L

AUNJULID  BBIE OB THDHILILBoToNHL.  us) TULHaddh  DIRUILUHL IWITSHE QBTN H LY odlad(nti
Ml drdyalhds 4, aloNL winf®

(1) sumdatBBnigeit 4mie) sledan?

|.»\]T \ (1) oo Todt allansdsuands slodlso
N

(i) aflsnsiGonds  1wnnjladudsi TN B B

| —»

For the general reaction A —— B. Plor of concentre

tton o' A Vs time is given in the graph
below. Answer the I(}llu\\’ml' questions on the |

asts of this graph,

() What is the order of W -u.umn

‘ \ () What is the stope of the curve? e

(111) What is the it of rate constant?
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V. Padasalal. N !
Cm; %uﬂ'ﬂLHﬂtLgm@ BB  wIBBLEBE 5 s WTranpsc .Com
CaumLBGHSHIuTL? 2 _siisnar,  GsusiyaviiewLid  6T6UGUTHI

There are two isomers with the formula C HiNO» How will vou distinguish between them?

a_g’;@amnai‘] IDQ}@ILD l.j‘ﬁml'fbi)ffnﬁmtﬂ'l G@Iﬂj}u@;ﬂ);ﬁ r’.)f”?'l.”b (gd;[”bdmn-alj ST wirsna’!
. : L e Idhn aJJoll .
What are the tests to differentiate ethanol and phenols?
y b o Damier i

Ay eup sfwd Gowd  (GHBr  wm o oai wmilss oo Mg 2oLl

' . ; o " y . I LA
sllaneuuBGHHICUIGI Gsion (B) S bdinm. BoGsiwbans, COs 2_Lsh mi!in)enM(B&ﬁ
lsutIUBHHDCUIGHI Cainpid t() Bl siafay i e s ; '

(A), (B) wimp (C &b HEvIL

T Tl o (C) g Ml

An organic Compound C3HsBr (A) on treatment with Mg in dry ether gives (B) which on
treatment with COx followed by acidification gives (C). Identify (A), (B) & (C) and write
possible equations,

ugs -1V / Part-1V e 5%5=25

SPHETED TS EHSHE G)ﬂGU)I_u.IGIﬂ&EaGulD '
Answer the following questions.
a) i) sTLUT UDILLGHSI STiuDy UNs650660 wampmu DIRIEG

il) fsvousmy Lolsdtei _;u@g,g;su (OEDINEN @nmmmuwas&,smm ol surl.

(DIs0sVHI)

b) i) aub. . JCuTeLEsT sy statian? 2 Hganid - OaHT(H:

i) Usitsumd Gamomimsailsd slisuainsnd @amea&;abuu [ba)LGug;ucﬁJ;Bg;j

&) BrFs o) 1F7 :

a) i) Explain extraction of copper from coppu pymeb

i) Explain electrolytic refining of silver.
(OR) *

a) i) What are dmplnb()l@s’ Give example. sy )
ii) What type of hybridization occurs in the followmﬁ compounda

a) BrFs b) IF, . _ i |

a) 1) Cr’™  susSsyowimad m(B&na.ﬂLurr&, .g_anuu@ung;j Mn®" suaSantowina
o shengy ejeir? alland@. _

SDLD Lompslavl aoolugﬂ wirgl? DAHa @&mnu;ﬁgb}m@a@ SIIDEIS.

_ lﬂ-:)lﬁUoUQ;j_] :

b)i) @  alensiuils SEDJUTPEBTAD  SUDTWGL. (PSS slenaruisd  SiEnIeUTLD
SHITGOLDTAI S allenanuib GILIT paYTlEor @sn&,as& @gjlamanu CUITHHE  DIHLDAUS VN6V
SN &H ST BHH. :

i) o[ ﬁqwmu@g_f,@au umsl

a) 1) [xpldm why Cr'”is strongly
ii) What is stability constant? Mentiol

2p5FCammiwure

) [BlaNaVLIL|dSHS

B opieaual srsrer?
reducing while Mn*"is strongly oxidizing?
1 its significance.

(OR)

action. Show lh'll for a first 01du reaction half life period is

b) i) Define half life period of re
independent of initial concentration.

ii) What do you mean by salt hydrolysis?
(SHE) umn m)ruluu ESIE Y

AR 305 ) N
1) Wau@eld — BLé haylHBHMedt —-)-It'ﬂ.fo-]li B ;)01- o DC Lr|aa1(aom|TL_|_959°“D@ UB's AC
HsiGamlLid LWSILBHHULBS DD SR

Send Your Question Papers & Answer‘l%@%’i‘ﬁé‘ur E-mail ID: Padasalai.Net@gmail.com


https://www.Padasalai.Net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.Com

b) i) Weipenans seuredl LpH GIILY - suenye.
ii) CurleySHmei eTeiimTsd 6T6iTERN? L
a) i) Write a note on standard hydrogen ei.ectrode (SHE)‘Z
i) Why is AC current used instead of DC in measuring the electrolytic conductance?
(OR) : '

a) i) Write a note on electrophoresis.
ii) What is packing efficiency?
37. a) ) ysniselsr  wsopme, @reiLmbPme  wHDID  apsBTbEme Simwoly  UBD

a6 E & b.
1i) Ueiieu@mld orhpid steueumm PapssiLGdna? Cansead 4- Faebl fleo—s Gapésd -
4- Feuren,
(SI606VGI) |
b) i) Gamuyssir OBDID 191 TO\ewIL Haer e W5 BEGWL CFwsourLiger aufl(wenseniu
a6 & %.

ii) Ueieu@mid  omBpmissi 6T6MEUTMI & IDSHSLILIGEmEHI?
X) Oueiider —p 1AL GL." .LICamTsH
(Y) Quensnsbigan@ —> ®anLGyr QueiiFmL®
a) i) Explain primary, secondary and tertiary structure of proteins.
ii) How is the following conversion affected?
hex — 4 — enitrile—» hex — 4 — enal
©OR)
a) i) Explain the mechanism of cleaning action of soaps and detergents.
if) How are the following conversions effected?

(X) Benzene—» acetophenone
(Y) Benzaldehyde —» hydrobenzamide.

38.2) ) HCN-sr Ka wg@iy 107 seflst’ 0.4M HCN senysader pH &I eTeiea?
(SiI606031) £

b) ) @i@yrBuoligs epL BT Bgiwb (A) SwHCl o e PbsswMmLHH  Bsiwod  (B)
CeHIN  mé Oarhsdmg.  Gsmon  (B)  Quesigmulsy GBsmenyBLer  figsh
(easieneouied  ellemeniuBss  Ggimow  (C) pae AL (OF: X315 % ) Gairod  (B) ARG
CH3Br o Le1 elwaniiu@ss Gsimow (D) sy-wyb, AFmS GBHTLig NaNO,/HCl
2 Let  elwaiuBsHS  10EhFHT  BBUPEHILW  sTemGsic] GumelB:  FreupsnLw
Gomod (E) g6 Gerdsding aafid (A) wsed (B) aieny o shon Goimommenend
SWILHbG ellensnsemnen 61(1HHIs.

a) i) The Ka value of HCN is 10”. What is the pH of 0.4M HCN solution?

- (OR)

b) An. aromatic nitro compound (A) on reduction with Sn/HCI gives compound (B) CgH;N.
which on treatment with Benzoyl chloride in the presence of pyridine to give compound (C).

Compound (B) on treatment with CH;Br to give compound (D) which further reacts with

Nal\i O2/HCl to give compound (E) with yellow oil liquid. Identify (A) to (E) and write the
reactions. "
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y WWW.Way'[OSUCCGSS.OI’g

wrgfl elemssrenr VI/ Model question paper VI
Guwebplensy @yewiLmd uewi® / Higher Secondary Second Year
Geugllufwied . ~.Chemistry
(qyEdleod wppiw WP / English & Tamil Version)

grood oeney : 15 BilLmissit + 3.00 wewf QrHD w@HiGuesiss : 70

Time Allowed : 15 minutes +3.00 hrs Maximum Marks : 70

sfeerss : 1. omass elamssepd sfursl uHard e sensT  EELHEE gl U Gzid
Q@& reiTena)Lb. ‘aiFsLLAaId  Gopuellst  SienBd sesaTemuursniL b

o Leaguwnes Oxfalbsalb.
2. Beolb (Sisvevgl) SmUY enwulene WL GEL 6IRSHINSBED 219HBHTYBMUBDGL
LWEUGSS Gauemi. LLBISsT aumaIsHE Cusdlsd LWLGSSMD-
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GHUY : Caemeuwirenr @LHEH60 UL eusnfbhdl FLTLTHEHEET 61(LDSHAYLD.
Note : Draw diagrams and write equations wherever necessary
ug® — I/Part—I : 15x1=15
GO : 1. Smaibd elamssEpbs@n el weisbasab | _
2. G@erhésuuL UGG alemL_a61iI60 LO&&)LD gJMBLEHL LI a’i LMD
BaheEGHS GMUI_GLET ailenL uleneu b Cerddml 61 (RHIH. '
| Note : 1. Answer all the questions
! 2 Choose the most suitable answer from the given four alternatives and write the
|
|
\
|
\

option code and the corresponding answer

1. UeieumsueueuBmieit 6151 HEUBTE FaBmi?
o)) La(OH); oiisl Lu(OH), m® aarn_u;@um (&EMDEUTE SMTHSHEEND ML WIS
&) eonpGemuii@ euflengulled Lo swelselen swel oy GomBaDII.
@) La oyomg eonbsemmi® QaTLfed o _siien Hafow  eeiLmS 6l @enLHeno SN DI
! asmu@gs &il. '
FF) sun;r)g)emnm@ @@&&5@55@ alenenaurad Zr wppio HE @5.65 SIgY S WLl
QummleiTerTent.
Which one of the following is not correct?
| a) La(OH); is less basic than Lu (OH)3
| b) In Lanthanoid series ionic radius of Ln>" ion decreases
c) La is actually an element of transition metal series rather than lanthanoid series.
d) Atomic radii of Zr and Hf are same because of lanthanoid contraction.
2. Ueieumo  oiwemiayF  Gaimomiseilsd  61hg @D ymedw  LIgslile  BlensulildhSHelisnioo Ll
(CFSE) &n_p&mai?
a) [Mn(H,0)5]™" 2) [Fe(H:0)]"" @) [Co(H:0)]" @ [Co(H:el™
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Among the following complexes, which one shows Zero Crystal field stabilization energy
(CFSE) is - g _

a) [Mn(H0)s]** b) [Fe(H:0)]*"  cj [Co(H:0)e]* d) [Co(H:0)s]™

SGmm SiflenTene BIHB SIQIOITITS (OTHHID @ab;m

S) ADNIHSO DY) 2_[HHEGHSH60 ) FWeBdbsLD #) BIHlsheons @ipedsd aumISEHe
The process of converting hydrated aluminia into zmhydrpus alumina is called.

a) Roasting | b) Smelting  ¢) Auto-reduction  d) Calcination

BF: & mimbugdss Gurfles  oufsu éﬂﬁﬁ]L:éBHS][BQj]. deenrm  LemGym  Gumflé  onfsoons
IBBLUUGSBE.  YenGyr Gurfle oibsussst »_sienamsl

o) H',F & BF; o) H &[BF,] o) [HBF:]"&F  m) H_+ B & F
On hydrolysis BF; gives Boric acid and converted to fluroboric acid. The fluoroboric acid

contains the species.

a) H', F & BF; b) H" &[BFy]" ¢) [H BR:]"&F ) H',B"&F
dsiauph sifeonsais abs oufabss 0-O dmail o sierg)

o) H>S0; @) H:5:06 | @) H;$:08  m HS406

The acid having O-O bond in its structure '

2) H,SO; b)) HiS:06 . o HyS;05  d) HyS4Oe

OpGR&Sl  QuUTdhs (Bsrrsmsjasmﬂsﬁ cloisnidbema N’ sTedllsl - BUSII(LPES . GIeMeETIET 6
awﬁrmﬂésm&&@_&mwn_a Amuug. o _ -

S) n : o) 2n @) 2n* #) 3n

- The number of close packed spheres is ‘n’. The number of tetrahedral voids generated is equal

to _ T
a) n b) 2n [ ¢) on? d) 3n

.2A+2B — C+2D aeip aflnenisg elmanBais ais ssen? B-si G‘l&gﬂsmsu LOTHMIWed A-
o Gogley @@ wLMEG o WihHbCUTE. ellwenuls Cuswieans Brsie DL BIBTEBE).
Gogud  A-6ir  GFpilemey  MBBTEY  B-sii - Qorfley Brewi oLk &'u_lf@@ub Guirg
allsmenuilelr Geusld @(HLOLMISTEmSE.

o) Gaumid =k[A][B]* - ) Gausb =k[A][B]

®) Geusib =k[A] % [B]? #) Gausb =k[AJ[B]

What is the rate law of the reaction 2A+2B—» C+2D I|f the concentration of A is doubled at

constant [B] the rate of the reaction increases by factor 4. If the concentration of B is doubled
at constant [A], the rate is doubled.

a) Rate =Kk[A][B]* - b) Rate = k[A][B]

c) Rate =k[A]” [B]? d) Rate = k[A][B]
. W/O ursbwgeng O/W umsbiowons IHDID Gguwisd wpenmuITss)

3)) FfbEBursed ) UTELLDLONdbebs () FlenBHeuant_gHe0 ) Mlemeuenio GpBTommmLD
The change of W/O emulsion in to O/ \W emulsion is Called

a) Coagulation b) Emulsification ¢) Decomposition d) Inversion of phase
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10.

11.

12.

9l eflQurmei / W&S(pemen |

- ¢) basic, acidic. neutral

www.Padasalai.Net www.TrbTnpsc.Com
iy ' ; -
SIMITmST  siiee0gana, CuTgieuT s GBI Gongy
Wshuged / |C"3 ;
) bz Ben Nicsnin 7 NP/ o dlagGeng
G?ﬂ.ﬁ@uﬂ% -GUTIB@ /. \el(penay / OGhLIEHR 0 &b(pema / ﬂfﬁg@mm@
G/ Weiipenen / OSiLed / Wsiiupsnay / HB5H 6iT

F) abdlmBamg / Oeipenen / Wsii@a / DS [ oEas

The gencral representation of a fuel cell is

a) Fucl / Electrode / Electrolyte / Electrode / Oxid

b) Oxidant / Electrode / Electrolyte / Electrode ; Fucl
¢) Fuel / Electrode / Electrolyte / Electrode / Reductant

ant

d) Oxidant / Electrode / Electrolyte / Electrode / Reductant
Gamouid  SiAL B,
(MG

3l) BHBHMeV, Sdsvid, SJLD
&) sy, Sudsoip, BOBDH M0

SADGwrafund  @BCsnmeny(,

) e, BITD, HEHMEVSSEELO
F) ST, Hlevd, &Smyd

The aqueous solution sodium acctate, amomonium chloride, sodium nitrate are respectively

a) Neutral, acidic, basic b) acidic, basic, neutral

d) basic, acidic, basic
LeleumeusneuBmieh aiba eNensm FHHM] QBTHHGID?
o) C;HsONa + Cy; Hs Br —
@IL?IH:S(L ;
&) CH;CH,OH 413K
HBF4
@) CH; CH,OH+CH; N, ~A "~
) GBESHIL MMMSSHILD. '
Which of thé following reaction will give cther?
a) C,HsONa + C; Hs Br—»
Con H,SO N
b) CH;CH, OH 413K
2 HBF4
¢) CH; CH; OH+CH,N; ~ &
d) All of the above.

S Csommenbe EmpueL soouls sloayfub seoouds @pae aflvs
G CET

(1) C¢HsCOCI (2) O;N—/ —coCl

(3) CH:—/ H-COCl  (4)OHC—/ ~COCI
o) 2>4>1>3 o) 24> 1321
@ 1>2>3>4 7) 4>3>2>1
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15.
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Arrange the following compounds in decreasing order of reactivity for hydrolysis reaction.

(1) CeHsCOCI @OoN-{ Y-coct
3) cm-@ cocl () OHC'—Q'—{'C‘OCI
a) 2>4>1>3 by 2>4>1>1
c) 1>2>3>4 d) 4>3>2>1
NO2 NO2 AT
'“‘T"'”'HBT -—-——b- (/\ . ‘A° GTGDTLJ@]
N=N-Cl i
91 HaPO wpmio H, O &y H'/H,0
®) HgS04/H,S0,4 F) Cu,Cly
,/QIHz NO;
\r’/ﬁBr C‘Br
N=N-Cl | - T
a) H3PO, and H,0 b) H'/H,0 ¢) HgSO4/H,S04 d) Cu Cly
GendE6srery HCN - allensn@ummeit ﬁr,m[bug)&@si)b sﬂmm@un@sh_l{&“@&'rrmm A eI6Lg)

31) GemsiLermulld Qmﬁlsmb o) 2~ OlemdCa s

®) GeamiBL e ) QamLIL6med

Glucose HCN Producj; hydrolysis_ Product HIA A, the compound ‘A’ is"
a) Heptanoic acid b) 2-iodohexane c) Heptane d) Heptanol ™

i@ : @ Csmils SHroTensn i Oordhs Gsnpliuerey (TFM wﬂuu) gnguusml_u_ﬂeo

GOUILUUGS DS

siyemid: BIS &y diiemulsalely woed &7 GFmiysst @Geombs W sbd 60% TFM

&IenU OB TeuNg(hdbH (36)]6&51@'@.

o) S wpop  smeud  @rewiGh  Ffl Goenb  sryewib, SabpissTer  Filwrer
ST d & LOTGID e SRR

1) Gbp  WpEld  smyeib  @ewibly &Ml DenTed  &mTyewilD, -'aéxg'jﬁ;{léeswm gflwimen
61161 B L0606V o

@) anip M euTed STTEUID HEUDI

W) Sabm WHBEID Sryeid GGl Seupl

Assertion: The quality of soap is described in terms of total fatty matter (TFM value)

Reason : As per BIS Standards, Grade-I soaps should have 60% minimum TFM value.

a) Both assertion and reason are true and reason is correct explanation of assertion

b) Both assertion and reason are true but reason is not the correct explanation of assertion
¢) Assertion is true but reason is false.

d) Both assertion and reason are false.
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17.

18.

19.

20.

21.

22,

23.

25.

26.

27.

28.
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Uga. = I1/ Part — II : 6x2=12

ICHDI> YW elamEEELES en wefise

. ellen 616w ; .
allenLwiefdasayib. sTemt 4 5@ SLLIWITS

Answer any six questions. Question No. 24 is compulsory

€O 96 9bseb ammi. g6 aEsEGEM GLar Bsmbmy Doy
CQ 1s a reducing agent, Justify with an example.

@am_.@.smsnﬁ SeflomissiT 9185 2_BGBmevamLs QsTem@sise. eJ6i?
Transition metals show high melting points why?

BTETPaS Leudhaled d-oumi s Ligdsysol emiy UL suenye

In tetrahedral field, draw the figure to show spilitting of d-
BIBET FJLLO A e6mTed ereien?

What is flocculation value?

orbitals.

fSSe0e0Gha1 2 Coorsnismen Lrgmnoss SIFTWPemENL LUTHISTL eleuaumm 2_SHe dimal?
How cathodic protection helps to protect the metal from corrosion?

LIS SBULNETS6T sTeiiLg) wrgl? o sryewid QasnE.

What are Antiseptics? Give an example |

Qeumligwit - Guoulsdan wpem L 61(DGIH

Write a note on Sabatier — mailhe method?

Surmils oufleod Aphs @BEGIL  srFeiuTs QFweLBEBH 61?7 QBRESGID LU
BB @ elenarenw 6TIpHISH BT ! : & :

Why formic acid act as strong reducing agent? Give one equation to show its reducing
property.
W0 ouems  allwenuien  eflmenGous  wrhedullsnr  wWHLY  1.54%X107° ST aeflsd  oyme

SIDTUTPBTEVD  HeBLIIgSES.

The rate constant for a first order reaction is 1.54%x10™ S~ Calculate its half life time.

uggd — III/Part—III 6x3=18
J8s@ID Yu elemssapis@ alomLwelss. alam e 33 && SLLTLLTS
sllenL_wieéaeayb. |
Answer éhy six questions. Question No. 33 is compulsory.
Leusamlenowmedssy Ll Gl eiemnys
Write short notes on Zone refining process.
Qi 2 (n), omemeys Gamosaledmba aeiaurn CampuGaBs?
How double salt differs from co-ordination compounds?
Ti*, Mn?* swefsafliss 2 _sten saflss aevslgraseais aaiafsmsmu SaiGUly wHmD
SIBYleT SThHH HHULSHMBE WHAUMUULID HesisdBHae.
Calculate the number of unpaired electrons in Ti*", Mn?* and calculate the spin only Magnetic
moment.
SIOe0HTEIBEED SenTFedlen GFwsO(penmen 6ll6ToEGS
Explain buffer action of acidic buffer
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30.

31.

32.

a2
i..u

34.
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wygssBRadasataiaNed e STOIMTOL  6T6uTent ) 1Ml susma olsnand@ BGaums alganis sy b,

CoGo
What is Zero order reaction? Derive rate law for a Zero order reaction.
Lgss  ienlisBHTanar 1ommin DNHHIB EHTUIM).
Define the terms crvstal Jattice and unit coll

1) 1-%&a1Haiygi-1-msmer dm  Gwrsd  HI s s elewsnUuBhHInCUTH  »_
WEHHDID Al GLTinanands mewi_n)s.

The major product formed when 1-cthox y prop-lenc is heated with one cquivalent of HJ
i) 1-0nei6d aidmainenso sl Hhs KMnOa 2 Lei sllsneilubds sisisn o
What happens when I-phenyl ethanol is treated with acidified KMnO,?

CaFsLaIBeTSTY WBMIL idCyTendsi SUPEUEHLOLIL|EHANSN  6UED] .

Draw the structures of cellulose and Sucrose.

Ueieumd sfsnsusuflsnsulst o sitsn A. B wpmite C 8w G&nmra;&seman SHIIL LGS

HgO - HaO- . . NaNQOy/HC]
CHiCH,.NC —— A —— 3 3 »
H,O :

Identify Compounds A. B and C in the following sequence of reaction.

HeO  H,0 NaNO,/HC]
CH3CH2MC — A ———> B = —> (-
H,0

ugag -IV / Part-IV.  EOE | - 5%5=25
ﬂpasesrr@w elenmes & 61 @, ailsml_u_lsfﬂaaessuw - :
Answer the following questions. _

a) i) [Fe (en); Cly] Cly araims e;lamfmau& @EITLDI'BJ&}@&B@
1) Fe-aw agaamm%mmm STEUIT -
2) BansESeoliy IoBBID DisnIoY
3) &MbdHdH Heamo A5
4) suger IBHBIWMIESTsT sarenldbens
5) @aapnd wrbuwb 2 _sw?
6) I[UPAC Guuwrr :
DABWDEDD  61(LDSHIS
(i) odsiwgs sremmed Cry0, g Cr oum sieieuTy) PBHBILHS mEH?
(ELTVRVEN))

b) ) Xec-ar Gamomisenst  mobssven TWHIS  Seuppflell  GeMbBmOly. OBUE >
NBIDDB  6T(10H1.
a) 1)  For the complex [Fe (en), Cl,] Clz . identify
I)Oxidation number of Fe
2) Hybridisation and shape
3) Magnetic behavior
4) Number of gecometric isomers
5) Whether there may be opltcal Isomer also?

6) IUPAC name. . '
Send Your Question Papers & Answer Keys to Our E-mail ID: Padasalai.Net@gmail.com


https://www.Padasalai.Net/
https://www.padasalai.net/

Fad
T

20.

37.

a)

a)

b)

a)

- a)

a)

b)

a)

a)
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i) How Cr203 is reduced to Cr by A powder?
(OR)
i) List any five compounda of xenon and mention the type of hybridization and Structurc
ol the compounds. '
1) 2msniaF Gampnimalsii 1w hhaumil Lsimst @gewh GPUlGs.
i) BEIHM enmpfumiset sISINTAY SslaieN’ Sl P_STIamIhHIL6 Msnd .

oo atd

-

1) DT E (DTl sl UL L DRSO afa (ApANBHADATI A aTIdH T,
1) Gal{0BIaii ol L hdydyi il L sl ool i,
i) Writc any two medicinal uses of ¢o- mclnmtlon compounds

i) What arc hydrate isomers? Explam with an example.
(OR)
1) - Write any three condensation methods of prcpamllon of ¢ 0II0|d9

i) Mention the mcdlcnml tuscs of colfoids,
r_maqtmm g RO WBBE sl anic JJS}}]_} ERID (1) rlbmr&@w ._ULﬂb'tﬂ BITDBLESHH60

umjm: wpmi. pH t);,a:ummornr; SR
S VE ]|
1) O_t-»:rL,'._TJ-a'I D_(HEATHA LD HIL susnTh
1) enpl Gy é;}{,iijj@&:@fﬁﬂfojl LILLSTIEBADAT 5115 3.
Derive expression for hydrolysis constant and pH of Salt of weak acid and strong base.
' ;i (OR) e
i) Writc a notc on formation of « -hehx.
i)  Write the uses of nitroalkanes. . 3_
1) AMQEUMIBAT  IDMWIL  ALsUSHSn )l 6)?55)55561?6%[ DNQUILIMLUTED  LIGOLIQE6IT  6T6ISITDI
INBLILBHBILGAMHI? HaI6ETeE BEHID __g,n[rmiw QBT [HHBHLD.
- - (DI00B)
i) mg,a;amu.aa. anfeo 2t HSO, Lpﬂanﬂ@mmim STSHEMTEVIL_ 65T s)ﬂets)emurﬂmmCSurr@
SIGHAN T BLPE B :;J". DDA ansmmngp@ammsmm a6 &H .
il)  Ueimmaseblsy s HmdHd GIHTEL- steoL_ Ml QLI T
(1) surenIpliup LOSTILD (3) ST FAULD 10D
(2) SF6EHhdlUp LDEMID (4) NTHISNILEULP- LDERILD
How polymcm are classified on the basis of structure and molecular forces, give examples

of cach one..
(OR)
i)  What happens when cthanoic acid reacts with ethanol in the presence of con H,SOy, .
Give its com;:b_ﬁ:tc mechanism, |
i) Name the ester which has the following flavour?

(1) Banana (3) Pincapple

(2) Orange () Apricot
i 2Em FCC smioinis uysioidps. Guosub siss SILTHE 10gem™ wHomib e
DI@HInI_ 195 elaitbl]  maud 100pm. g uBHHO 2660 DliemIdseilen
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CHgO (A) eieip ssflog Gairod ot HySO4 o et 443K-60 QeuLLUBSS BeBeymns
mapLGyrariust C;Hy (B) & Oar@adings. @somar Qsriimbs  GUWTSTremiyL s
almeiuBsHs  Bsfiob CHeO, (C) Gan@asdnz. B srefwid Bwbsybssis
CroBuilLiteefled o emp adlt GQurmenmal LweLEABE. Gsimwob (C) o HSO,
UTEmeY  QUQBGELTEI auemenus  @aimwowren (C4HgO2) (D) s QaETBoHADBDH.  Guogid
Gsmod (A) & ot HySO4 2 e 413K-s0 Qautitiu®ss Gairwbd CsHigO (E) ms
CaThébeng aaflsd (A) wsed (B) cueny o_siien Gaiommamend SaLfbs elenaisemen

 6T(DSIS.

b)

An atom crystallizes in FCC crystal lattice and has a density of 10gem™ with unit cell edge
length of 100pm. Calculate the number of atoms present in 1g of crystal.
(OR) |

An organic compound C,Hg¢O (A) heated with Con H;SO4 at 443K to give an unsaturated
hydrocarbon C; Hy (B), which on treatment with Bayer’s reagent to give compound C;HgO,
(C) which is used as antifreeze in automobile radiator. Compound (C) distilled with con
H,S0y4 to give cyclic compound C4HgO;, (D). Compound (A) is heated with Con H,SOy at
413K to give compound C4H;O (E). Identify Compounds (A) to (E) and write equations.
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